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Topic:- Bodo_SET1_A
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[Question ID = 2379][Question Description = Q01_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9513]
2. 2 [Option ID = 9514]
3. 3 [Option ID = 9515]
4. 4 [Option ID = 9516]

Correct Answer :-
e 1 [Option ID = 9513]

¢ T grar Ay TEEE -

914 Option @ &1 :

1) S umersta Rfefe
@) e geersha fafgfeer
(@) e geensh fafefear
@) g yees A

[Question ID = 2380][Question Description = Q02_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9517]
2. 2 [Option ID = 9518]
3. 3 [Option ID = 9519]
4. 4 [Option ID = 9520]

Correct Answer :-
e 1 [Option ID = 9517]
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[Question ID = 2381][Question Description = Q03_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9521]
2. 2 [Option ID = 9522]
3. 3 [Option ID = 9523]
4. 4 [Option ID = 9524]

Correct Answer :-

e 1 [Option ID = 9521]
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[Question ID = 2382][Question Description = Q04_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9525]
2. 2 [Option ID = 9526]
3. 3 [Option ID = 9527]
4. 4 [Option ID = 9528]

Correct Answer :-
e 1 [Option ID = 9525]
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[Question ID = 2383][Question Description = Q05_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9529]
2. 2 [Option ID = 9530]
3. 3 [Option ID = 9531]
4. 4 [Option ID = 9532]

Correct Answer :-
e 1 [Option ID = 9529]
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[Question ID = 2384][Question Description = Q06_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9533]
2. 2 [Option ID = 9534]
3. 3 [Option ID = 9535]
4. 4 [Option ID = 9536]

Correct Answer :-
e 1 [Option ID = 9533]

7)
ﬂﬁ'OptionE}:ﬂ'ﬁ!@:
(1)  sireradife grar (2) oigrelisl ADER
(3)  favaniiey afar (4) Al gEdEar

[Question ID = 2385][Question Description = Q07_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9537]
2. 2 [Option ID = 9538]
3. 3 [Option ID = 9539]
4. 4 [Option ID = 9540]

Correct Answer :-
e 1 [Option ID = 9537]
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[Question ID = 2386][Question Description = Q08_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9541]
2. 2 [Option ID = 9542]
3. 3 [Option ID = 9543]
4. 4 [Option ID = 9544]

Correct Answer :-
e 1 [Option ID = 9541]
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[Question ID = 2387][Question Description = Q09_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9545]
2. 2 [Option ID = 9546]
3. 3 [Option ID = 9547]
4. 4 [Option ID = 9548]

Correct Answer :-
e 1 [Option ID = 9545]
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[Question ID = 2388][Question Description = Q10_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9549]
2. 2 [Option ID = 9550]
3. 3 [Option ID = 9551]
4. 4 [Option ID = 9552]

Correct Answer :-
e 1 [Option ID = 9549]
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[Question ID = 2389][Question Description = Q11_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9553]

2. 2 [Option ID = 9554]

3. 3 [Option ID = 9555]

4. 4 [Option ID = 9556]

Correct Answer :-

e 1 [Option ID = 9553]
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[Question ID = 2390][Question Description = Q12_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9557]
2. 2 [Option ID = 9558]
3. 3 [Option ID = 9559]
4. 4 [Option ID = 9560]

Correct Answer :-
e 1 [Option ID = 9557]
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[Question ID = 2391][Question Description = Q13_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9561]
2. 2 [Option ID = 9562]
3. 3 [Option ID = 9563]
4. 4 [Option ID = 9564]

Correct Answer :-
e 1 [Option ID = 9561]
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[Question ID = 2392][Question Description = Q14_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9565]
2. 2 [Option ID = 9566]
3. 3 [Option ID = 9567]
4. 4 [Option ID = 9568]

Correct Answer :-
e 1 [Option ID = 9565]
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[Question ID = 2393][Question Description = Q15_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9569]
2. 2 [Option ID = 9570]
3. 3 [Option ID = 9571]
4. 4 [Option ID = 9572]

Correct Answer :-
e 1 [Option ID = 9569]
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[Question ID = 2394][Question Description = Q16_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9573]
2. 2 [Option ID = 9574]
3. 3 [Option ID = 9575]
4. 4 [Option ID = 9576]

Correct Answer :-
e 1 [Option ID = 9573]
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[Question ID = 2395][Question Description = Q17_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9577]
2. 2 [Option ID = 9578]
3. 3 [Option ID = 9579]
4. 4 [Option ID = 9580]

Correct Answer :-
e 1 [Option ID = 9577]
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[Question ID = 2396][Question Description = Q18_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9581]
2. 2 [Option ID = 9582]
3. 3 [Option ID = 9583]
4. 4 [Option ID = 9584]

Correct Answer :-
e 1 [Option ID = 9581]
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[Question ID = 2397][Question Description = Q19_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9585]
2. 2 [Option ID = 9586]
3. 3 [Option ID = 9587]
4. 4 [Option ID = 9588]

Correct Answer :-
e 1 [Option ID = 9585]
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[Question ID = 2398][Question Description = Q20_BODO_SHAAN_4DEC_S1_Shift2]



1 [Option ID = 9589]
2 [Option ID = 9590]
3 [Option ID = 9591]
4 [Option ID = 9592]
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Correct Answer :-
e 1 [Option ID = 9589]
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[Question ID = 2399][Question Description = Q21_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9593]
2. 2 [Option ID = 9594]
3. 3 [Option ID = 9595]
4. 4 [Option ID = 9596]

Correct Answer :-
e 1 [Option ID = 9593]
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[Question ID = 2400][Question Description = Q22_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9597]
2. 2 [Option ID = 9598]
3. 3 [Option ID = 9599]
4. 4 [Option ID = 9600]

Correct Answer :-
e 1 [Option ID = 9597]
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[Question ID = 2401][Question Description = Q23_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9601]
2. 2 [Option ID = 9602]
3. 3 [Option ID = 9603]
4. 4 [Option ID = 9604]

Correct Answer :-
e 1 [Option ID = 9601]
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[Question ID = 2402][Question Description = Q24_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9605]
2. 2 [Option ID = 9606]
3. 3 [Option ID = 9607]
4. 4 [Option ID = 9608]

Correct Answer :-

e 1 [Option ID = 9605]
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[Question ID = 2403][Question Description = Q25_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9609]
2. 2 [Option ID = 9610]
3. 3 [Option ID = 9611]
4. 4 [Option ID = 9612]

Correct Answer :-
e 1 [Option ID = 9609]
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[Question ID = 2404][Question Description = Q26_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9613]
2. 2 [Option ID = 9614]
3. 3 [Option ID = 9615]
4. 4 [Option ID = 9616]

Correct Answer :-
e 1 [Option ID = 9613]
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[Question ID = 2405][Question Description = Q27_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9617]
2. 2 [Option ID = 9618]
3. 3 [Option ID = 9619]
4. 4 [Option ID = 9620]

Correct Answer :-

e 1 [Option ID = 9617]
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[Question ID = 2406][Question Description = Q28_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9621]
2. 2 [Option ID = 9622]
3. 3 [Option ID = 9623]
4. 4 [Option ID = 9624]

Correct Answer :-
e 1 [Option ID = 9621]
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[Question ID = 2407][Question Description = Q29_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9625]
2. 2 [Option ID = 9626]
3. 3 [Option ID = 9627]
4. 4 [Option ID = 9628]

Correct Answer :-
e 1 [Option ID = 9625]
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[Question ID = 2408][Question Description = Q30_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9629]
2. 2 [Option ID = 9630]
3. 3 [Option ID = 9631]
4. 4 [Option ID = 9632]

Correct Answer :-
e 1 [Option ID = 9629]
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[Question ID = 2409][Question Description = Q31_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9633]
2. 2 [Option ID = 9634]
3. 3 [Option ID = 9635]
4. 4 [Option ID = 9636]

Correct Answer :-
e 1 [Option ID = 9633]
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[Question ID = 2410][Question Description = Q32_BODO_SHAAN_4DEC_S1_Shift2]



1 [Option ID = 9637]
2 [Option ID = 9638]
3 [Option ID = 9639]
4 [Option ID = 9640]
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Correct Answer :-
e 1 [Option ID = 9637]
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[Question ID = 2411][Question Description = Q33_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9641]
2. 2 [Option ID = 9642]
3. 3 [Option ID = 9643]
4. 4 [Option ID = 9644]

Correct Answer :-
e 1 [Option ID = 9641]
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[Question ID = 2412][Question Description = Q34_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9645]
2. 2 [Option ID = 9646]
3. 3 [Option ID = 9647]
4. 4 [Option ID = 9648]

Correct Answer :-
e 1 [Option ID = 9645]
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[Question ID = 2413][Question Description = Q35_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9649]
2. 2 [Option ID = 9650]
3. 3 [Option ID = 9651]
4. 4 [Option ID = 9652]

Correct Answer :-
e 1 [Option ID = 9649]
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[Question ID = 2414][Question Description = Q36_BODO_SHAAN_4DEC_S1_Shift2]



1 [Option ID = 9653]
2 [Option ID = 9654]
3 [Option ID = 9655]
4 [Option ID = 9656]
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Correct Answer :-
e 1 [Option ID = 9653]
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[Question ID = 2415][Question Description = Q37_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9657]
2. 2 [Option ID = 9658]
3. 3 [Option ID = 9659]
4. 4 [Option ID = 9660]

Correct Answer :-
e 1 [Option ID = 9657]
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[Question ID = 2416][Question Description = Q38_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9661]
2. 2 [Option ID = 9662]
3. 3 [Option ID = 9663]
4. 4 [Option ID = 9664]

Correct Answer :-
e 1 [Option ID = 9661]
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[Question ID = 2417][Question Description = Q39_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9665]
2. 2 [Option ID = 9666]
3. 3 [Option ID = 9667]
4. 4 [Option ID = 9668]
Correct Answer :-

e 1 [Option ID = 9665]
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[Question ID = 2418][Question Description = Q40_BODO_SHAAN_4DEC_S1_Shift2]



1 [Option ID = 9669]
2 [Option ID = 9670]
3 [Option ID = 9671]
4 [Option ID = 9672]
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Correct Answer :-
e 1 [Option ID = 9669]
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[Question ID = 2419][Question Description = Q41_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9673]
2. 2 [Option ID = 9674]
3. 3 [Option ID = 9675]
4. 4 [Option ID = 9676]

Correct Answer :-
e 1 [Option ID = 9673]
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[Question ID = 2420][Question Description = Q42_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9677]
2. 2 [Option ID = 9678]
3. 3 [Option ID = 9679]
4. 4 [Option ID = 9680]
Correct Answer :-

e 1 [Option ID = 9677]
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[Question ID = 2421][Question Description = Q43_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9681]
2. 2 [Option ID = 9682]
3. 3 [Option ID = 9683]
4. 4 [Option ID = 9684]

Correct Answer :-

e 1 [Option ID = 9681]
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[Question ID = 2422][Question Description = Q44_BODO_SHAAN_4DEC_S1_Shift2]
1 [Option ID = 9685]
2 [Option ID = 9686]

3 [Option ID = 9687]
4 [Option ID = 9688]
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Correct Answer :-
e 1 [Option ID = 9685]
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[Question ID = 2423][Question Description = Q45_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9689]
2. 2 [Option ID = 9690]
3. 3 [Option ID = 9691]
4. 4 [Option ID = 9692]
Correct Answer :-

e 1 [Option ID = 9689]
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[Question ID = 2424][Question Description = Q46_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9693]
2. 2 [Option ID = 9694]
3. 3 [Option ID = 9695]
4. 4 [Option ID = 9696]
Correct Answer :-

e 1 [Option ID = 9693]
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[Question ID = 2425][Question Description = Q47_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9697]
2. 2 [Option ID = 9698]

3. 3 [Option ID = 9699]
4. 4 [Option ID = 9700]

Correct Answer :-



e 1 [Option ID = 9697]
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[Question ID = 2426][Question Description = Q48_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9701]
2. 2 [Option ID = 9702]
3. 3 [Option ID = 9703]
4. 4 [Option ID = 9704]

Correct Answer :-
e 1 [Option ID = 9701]
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[Question ID = 2427][Question Description = Q49_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9705]
2. 2 [Option ID = 9706]
3. 3 [Option ID = 9707]
4. 4 [Option ID = 9708]
Correct Answer :-

e 1 [Option ID = 9705]
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[Question ID = 2428][Question Description = Q50_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9709]
2. 2 [Option ID = 9710]
3. 3 [Option ID = 9711]
4. 4 [Option ID = 9712]

Correct Answer :-
e 1 [Option ID = 9709]
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[Question ID = 2429][Question Description = Q51_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9713]
2. 2 [Option ID = 9714]
3. 3 [Option ID = 9715]
4. 4 [Option ID = 9716]

Correct Answer :-
e 1 [Option ID = 9713]
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[Question ID = 2430][Question Description = Q52_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9717]
2. 2 [Option ID = 9718]
3. 3 [Option ID = 9719]
4. 4 [Option ID = 9720]

Correct Answer :-

e 1 [Option ID = 9717]
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1 (A) 31T (C)
2) (A)3R(D)
(3 (B) 3R (D)
4 ®BIAR(O)

[Question ID = 2431][Question Description = Q53_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9721]
2. 2 [Option ID = 9722]
3. 3 [Option ID = 9723]
4. 4 [Option ID = 9724]

Correct Answer :-
e 1 [Option ID = 9721]

A) s RErmE
B) A,
(C)  arem RarfEr

) 94,

T Option G ARE:
(1) (4) 3R (D)
2 (C)3mI(B)
(3) (AR (B)
4) (C)3mr(D)

[Question ID = 2432][Question Description = Q54_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9725]
2. 2 [Option ID = 9726]
3. 3 [Option ID = 9727]
4. 4 [Option ID = 9728]

Correct Answer :-

& 1 [Option ID = 9725]

55) MBS GIATIh e o Je1<T ATdsil Id AR ISl Td-

Ay ST T



(B)  dref (Parler)
(© gdua

(D)  9rds (Patois)
7 Option @ TTE:

1 QI B)
2 (A IRTD)
(3  (O)3m(B)
4  (C)3mr(D)

[Question ID = 2433][Question Description = Q55_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9729]
2. 2 [Option ID = 9730]
3. 3 [Option ID = 9731]
4. 4 [Option ID = 9732]

Correct Answer :-
e 1 [Option ID = 9729]

2 IErE SR aa S TR 3 AR AR AR SR
@ 3g
® &
©) fewr
®) s
A Option @ TRIE:

1) (A)IR(C)
@ (B3RO
(3 (B3R (D)
@  (AID)

[Question ID = 2434][Question Description = Q56_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9733]
2. 2 [Option ID = 9734]
3. 3 [Option ID = 9735]
4. 4 [Option ID = 9736]

Correct Answer :-
e 1 [Option ID = 9733]

37) MBI BIAER T da ded1 a¥ R &'halehiel 3 & fauaman Mdasg=-ra au:
@) ey
(B)  fopar ST
(C)  HET=ETET
(D) sarster
1T Option Tt ARE:
1 A 3RD)

iy P o L. -



L4) o) Jixliv)
(3 (B) 3WI(C)

@ B 3D

[Question ID = 2435][Question Description = Q57_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9737]
2. 2 [Option ID = 9738]
3. 3 [Option ID = 9739]
4. 4 [Option ID = 9740]

Correct Answer :-

e 1 [Option ID = 9737]

MBI BIA Bl el ST IS I IRl TIE-

(A)  IROTERT

B)  dufar

€ s

(D)  GremART

31 Option @t T E:
(1) (O)3RID)
) (C) 3R (B)

(3) (A I(B)
@  (A4)IR(C)

[Question ID = 2436][Question Description = Q58_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9741]
2. 2 [Option ID = 9742]
3. 3 [Option ID = 9743]
4. 4 [Option ID = 9744]

Correct Answer :-
e 1 [Option ID = 9741]

e MG BIART Bl el Sl A=A I R TTTIATT -
(&)  gmEEr
(B) GRUE]
© w3
(D) groEaE
AT Option @l @G-
(1) (A IRI(B)

2) (4 3m(C)
(3 (A 3IRD)
4) (B) 3111 (D)

[Question ID = 2437][Question Description = Q59_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9745]
2. 2 [Option ID = 9746]
3. 3 [Option ID = 9747]
4. 4 [Option ID = 9748]



Correct Answer :-
e 1 [Option ID = 9745]

%) mgraa GRS Herar e s AT -
(4) @MW
(B) &
(C) & elararaar ara
D) AT T
e Option @ ARE:
(1) (B IRTD)

(2) (B) 31”1 (C)
(3) (A) 3R (C)
4) (A) 3IRT (D)

[Question ID = 2438][Question Description = Q60_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9749]
2. 2 [Option ID = 9750]
3. 3 [Option ID = 9751]
4. 4 [Option ID = 9752]

Correct Answer :-

e 1 [Option ID = 9749]

MG §IAESH  Fof ATAHEAT A= Mg AR S JE-

(A)  oTET HTeeT

(B) grEEa

(©  3taErazar
DO 3T far
#1F Option @ @1 IG:

@O @D
@ (A3 (B)
(3 (B)3RI(D)
@  (B)IN(C)

[Question ID = 2439][Question Description = Q61_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9753]
2. 2 [Option ID = 9754]
3. 3 [Option ID = 9755]
4. 4 [Option ID = 9756]

Correct Answer :-
e 1 [Option ID = 9753]

62)  mgraTd REER I 99 AT A A AR AT FIE-

(4) oL
(B) FwemT
(C) it faeR

(T FICICIR IR



9ie Option @ @1 TG:

(1) (A) {RT(C)
@2 (4 IRI(D)
3 (B)FRI(C)
4 (B)IRT(A)
[Question ID = 2440][Question Description = Q62_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9757]
2. 2 [Option ID = 9758]
3. 3 [Option ID = 9759]
4. 4 [Option ID = 9760]
Correct Answer :-

e 1 [Option ID = 9757]

MBI BIATIH e dd HITHAT Idsil d IR el JE:

(VI 153
B) HRi
(C) IR AT

©) wuR
7 Option @t TTE:
(1) (B)IR(D)

@) (A) 3T (C)
(3 (B)3mW(C)
4) (AW (B)
[Question ID = 2441][Question Description = Q63_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9761]
2. 2 [Option ID = 9762]
3. 3 [Option ID = 9763]
4. 4 [Option ID = 9764]
Correct Answer :-

e 1 [Option ID = 9761]

64) MG BTGB gl AIACAT AT I IRTAIATT TEE:

(A) Stereer
(B)  SiFEater 3mere

(C)y #mr

D) @&

1 Option @ TE:
1 (B3R (D)

@) (B) {IRT (C)
3) (A3 (C)

4y (Y 21 (T
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[Question ID = 2442][Question Description = Q64_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9765]
2. 2 [Option ID = 9766]
3. 3 [Option ID = 9767]
4. 4 [Option ID = 9768]

Correct Answer :-
e 1 [Option ID = 9765]

63) MG GIATDR eI el FIAHAT A=t N AR Sl GRE:
@ g
B) THEEAUS
(€) grETAE
D)  FrE
14 Option @ TFG:
1 (A IR (B)
2 (B)HRI(D)

3) (C)IR @A)
(€] (D) FRT(A)

[Question ID = 2443][Question Description = Q65_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9769]
2. 2 [Option ID = 9770]
3. 3 [Option ID = 9771]
4. 4 [Option ID = 9772]

Correct Answer :-
e 1 [Option ID = 9769]

MG glare &R S -1 @t iR g 3 et @ :

i (fersmn R (@rs)
(&) =i FeErn @M 1972
(B) @iaTh e I 1999
(C) e 3natfs Toraran (I) 2000
D)  3mfel STeram (IV) 1968
71 Option @ ARE:

1) A)-av), B -q@). (C)— ). (D) — D

2 A-IDh. B -dD. ©)—@O. D -adv

(3 (A)-dI). (B)-dD), (C)-av), D) - @

4 (A —@. B)— D). (C)— IV). (D) — (II)
[Question ID = 2444][Question Description = Q66_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9773]
2. 2 [Option ID = 9774]

3. 3 [Option ID = 9775]
4. 4 [Option ID = 9776]

Correct Answer :-
e 1 [Option ID = 9773]

B LT



faR- I (fasma R 11 (arens)

@ e @ 1985
(B) grE=THRC I 2008
(©) @I (IID) 1982

D)  Sgrend &are Iv) 1991

I option @t arr:

@ A-aV), B)-@. (O)-1D. (D)-ID
2 (A, (B)-@). (C)-(II). (D)IV)
@ Q. B)-ID. (C)-d). (D)-AV)
@  A-D. ®-O. (C)-II). (D)-IV)

[Question ID = 2445][Question Description = Q67_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9777]
2. 2 [Option ID = 9778]
3. 3 [Option ID = 9779]
4. 4 [Option ID = 9780]

Correct Answer :-
e 1 [Option ID = 9777]

68) e gl [GR- S AR ieg A et aaa-
fafR- 1 (3marer wRfe) faf- 11 (wrar=ms)
@& sheHr @O = AT
(B)  degHTte ) R SAglerd
(€)  T&Telr D 3t wE
®)  #Hew @) gaEr
1+ option @l TTTE:

(1)  (A)-@V). (B)- (II). (C)-(IID). (D)-(D)
@  @-av). B)-(ID). (C)-@D. D)-dD)
3 A-ID, (B)-aID.(C)-D), D)-1V)
@ (A-IV). (B)-IID.(CO)-ID). D)-@

[Question ID = 2446][Question Description = Q68_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9781]
2. 2 [Option ID = 9782]
3. 3 [Option ID = 9783]
4. 4 [Option ID = 9784]

Correct Answer :-
e 1 [Option ID = 9781]

69
) TEraTd e [ | S R @ e gt I feaeraat 9
faf- I gaers & IiEH
VI (R @O INET AR AR

B) HaAT D)  gEMEE AT



(C)  TPHEAES (I  IradEt & o=

D) Wearg (IV)  SAETIATH Ul SAdAT ATAT ATST
1el (Option) ot T

1) (A-IV), B)- (I). (C)-(1I). (D)-(ID

@) (A)-AV). (B)-(UI). (O)-1D). D)-D)

(3  (A-aID. B)-IV).(C)«(D). (D)-(IID)

4 A-D. (B)-(I).(C)-(I1). (D)-aV)
[Question ID = 2447][Question Description = Q69_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9785]
2. 2 [Option ID = 9786]

3. 3 [Option ID = 9787]
4. 4 [Option ID = 9788]

Correct Answer :-
e 1 [Option ID = 9785]

IMErETd gl &R S Gt @t e glant 3t fhaaraat aaa-

faf (fasm) R (o)
@) ot e O  fawEEaR agEa
B) SR ID A A
€ FoafaR ) @AT
D) el (IV) dfdeg ot
A Option @ @TTE:

1) (A, B)-IV). (C)-D). (D)-ID)
(2) (A)-(ID), (B)-I1). (C)-I). (D)-(IV)
(3)  (A)-D), (B)-1). (C)-(ID). (D)-AV)
@) (A)-IV), (B)-(1I). (C)-d@). (D)-(II)

[Question ID = 2448][Question Description = Q70_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9789]
2. 2 [Option ID = 9790]
3. 3 [Option ID = 9791]
4. 4 [Option ID = 9792]

Correct Answer :-
e 1 [Option ID = 9789]

T rgrena Qi TR A TS a0 e A ottt .
RIRCT (R FARCIT (2T rAfsretrar i)
@ 7 O TR
B 4 In e
€ = D) el
® = (IV)  grmaig
Il Option @ @1 EG:

(1)  (A)-aD. (B)-(ID. (C)-AV). (D)-@)
@) A)-D. B)-ID. (C)-IV), (D)-A1D)

FivAY AN TTTY /s 7Ty A0S Ty Qi TYyy TV
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@ (A-AV). B-ID. (C)-D. (D)-ID

[Question ID = 2449][Question Description = Q71_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9793]
2. 2 [Option ID = 9794]
3. 3 [Option ID = 9795]
4. 4 [Option ID = 9796]

Correct Answer :-
e 1 [Option ID = 9793]

72) e gl AR | S @) @t e gidre A et e

a1 (wra) FER-IL (diere)
&) feamEr @O
®) T I fewx
© T D gFs
D) FFRF av) atw
31+ (Option) @ TE:

(L (A)-IV), (B)-(1). (C)-(III), (D)-(ILI)

2)  A)-ID. B)-D). (C)-aAV), (D)-11LI)

(3) (A4)-ID). (B)-IV), (C)-(D). (D)-(I1I)

4) (A)-(D). (B)-(I). (C)-(III). (D)-IV)
[Question ID = 2450][Question Description = Q72_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9797]
2. 2 [Option ID = 9798]

3. 3 [Option ID = 9799]
4. 4 [Option ID = 9800]

Correct Answer :-
e 1 [Option ID = 9797]

73)  argrena g R i R @t sk grenet A Rearet wra-

A (wrEn) fafe i (e
@  wE @ af
® g an el
© TR (D) X gt
O EERE™ av) St
e (Option) @ Tw:

(1) (A) — (D). (B) — @IV}, (C) — (I). (D) — (IIT)

(2 (A, B)-dD. (C)-aV), D) - D

(3) (A) — AV), (B) — (IID). (C) — (D). (D) — @)

@ A)-D. B -aD. (C) - V), (D) — (1)
[Question ID = 2451][Question Description = Q73_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9801]
2. 2 [Option ID = 9802]

3. 3 [Option ID = 9803]
4. 4 [Option ID = 9804]

Correct Answer :-



e 1 [Option ID = 9801]

" s g R R @ AR At wre
R I (39 - 11 (=mer=n)
Q) Trdres @O 3T s e
(B)  wegREm D) R @A SErEr
€ e () 3iEH vEE!
D) et IV) argErst
el Option @ O/ @:

1 A-O. B -dD. (€ -d. O©) - av)

@  A-0.B)-av), () -ap. (D) - 1)

3 @) -av). B)-@. (C) - ). (D) - D)

@ A -dD. B - ). (©) - aIv). O - @D
[Question ID = 2452][Question Description = Q74_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9805]
2. 2 [Option ID = 9806]

3. 3 [Option ID = 9807]
4. 4 [Option ID = 9808]

Correct Answer :-

e 1 [Option ID = 9805]

Merad gl A = @it @t iegae daat aaa-

FaR-I (EReRE ) FAR-IT (prafet 3)
@ g O TR
(B) = () &g ATAT
(€  fomr D) T
D) Geddar av) ufedan
31 Option @ TIGE:

(1) (A -d). B)-av). (€) - @. @) - dD
@)  @-IV). B -1D. ©) -dIDh. M- D
@) (@A) -av). B)-@D. (C) -, @) - 1D
@  @-@.® -0, (€) - av). (D) -aD

[Question ID = 2453][Question Description = Q75_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9809]
2. 2 [Option ID = 9810]
3. 3 [Option ID = 9811]
4. 4 [Option ID = 9812]

Correct Answer :-
e 1 [Option ID = 9809]



(B) Boro folk songs and rhymes
(C) The Kacharis
(D) A Collection of Kachari Folk Tales and Rhymes

e Option @ T @:

1 @ ® © D
@ @ © O ®
3 @D © B &
@ @D ® ©) &

[Question ID = 2454][Question Description = Q76_BODO_SHAAN_4DEC_S1_Shift2]
1 [Option ID = 9813]
2 [Option ID = 9814]
3 [Option ID = 9815]
4 [Option ID = 9816]

A wWw N =

Correct Answer :-
e 1 [Option ID = 9813]

(C) ety amaer

D) I A
EIC option @t ara:

@1  ©O>B© D
@ BWOMD
3 B @M ©)
@ @D B

[Question ID = 2455][Question Description = Q77_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9817]
2. 2 [Option ID = 9818]
3. 3 [Option ID = 9819]
4. 4 [Option ID = 9820]

Correct Answer :-
e 1 [Option ID = 9817]
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©) PHAFERE
D) famrs
314 Option © TRE:

1) @D @ )



@  O®BO K
@ B¢ DA
@ (©OMD®B @A

[Question ID = 2456][Question Description = Q78_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9821]
2. 2 [Option ID = 9822]
3. 3 [Option ID = 9823]
4. 4 [Option ID = 9824]

Correct Answer :-

e 1 [Option ID = 9821]

MRt Tag Aeerratel e AareRfe Ranfiafasr saftafs miRi st T

4 e

B) FeE A
(C) TrEramE
D) e

91 Option @ TRIE:

1)y  (©) @A) D) @B
@ @®’OD
(3 (©) M)A B
@ (D) (B) A (©)

[Question ID = 2457][Question Description = Q79_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9825]
2. 2 [Option ID = 9826]
3. 3 [Option ID = 9827]
4. 4 [Option ID = 9828]

Correct Answer :-
e 1 [Option ID = 9825]

(B)  agEA
(C) T
D) UreRAdATA Jel

e Option T ATIE:

1 (©O®® D
@ ®O WD
@ @®DOA
@ DB A

[Question ID = 2458][Question Description = Q80_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9829]
2. 2 [Option ID = 9830]
3. 3 [Option ID = 9831]
4. 4 [Option ID = 9832]



Correct Answer :-
e 1 [Option ID = 9829]

(A)  Folk Speech

(B) Dialect

(C)  Idiolect

(D) Standard Language

1T Option @ AT:

1) B A D

2 @@ D

3  A@©)>d D

@ @B®®© D
[Question ID = 2459][Question Description = Q81_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9833]
2. 2 [Option ID = 9834]

3. 3 [Option ID = 9835]
4. 4 [Option ID = 9836]

Correct Answer :-
e 1 [Option ID = 9833]

Merfs 0 Tafa S afaara aifaafawr ARG A At B E et  aa:

@  ughs

®) e

(C) O

D)  STirsT

91 (Option) E T@EE:

1 B &) D
2  (©) @)D @
@ D B @A ©
@ (© BDA®

[Question ID = 2460][Question Description = Q82_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9837]
2. 2 [Option ID = 9838]
3. 3 [Option ID = 9839]
4. 4 [Option ID = 9840]

Correct Answer :-
e 1 [Option ID = 9837]
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D) AHAREET

1 Option @l T

I @) ®(C) D
@ @B MD©
B @)D ®E©)
@ @WEOD®

[Question ID = 2461][Question Description = Q83_BODO_SHAAN_4DEC_S1_Shift2]
. 1 [Option ID = 9841]
2 [Option ID = 9842]
. 3 [Option ID = 9843]
4 [Option ID = 9844]

A W N -

Correct Answer :-
e 1 [Option ID = 9841]

(A) AT o1 GHART
(B) IS AT g
(C)  FHaIS AT Hielrd Hiel WeHAd

(D)  Eraer SRR

31+ Option @t T TG:

(1) @ B © O
2 @O B @A ©
@ @ © D @B
@ @® © A O
[Question ID = 2462][Question Description = Q84_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9845]
2. 2 [Option ID = 9846]
3. 3 [Option ID = 9847]
4. 4 [Option ID = 9848]
Correct Answer :-

e 1 [Option ID = 9845]

FRITERT TATRT BT (T WAl dier Teiiia g wRal e wiiE aereaaat ara:
(A4 :53@11

B) TR FH

(€) @1

D) we

14 Option @t &1E:

1 @ © B @
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3 4 © O @®
4 B ©) A O

[Question ID = 2463][Question Description = Q85_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9849]
2. 2 [Option ID = 9850]
3. 3 [Option ID = 9851]
4. 4 [Option ID = 9852]

Correct Answer :-
e 1 [Option ID = 9849]

afEr AleT2Iral o Farsfer vanat g1 arpran|
daffn AITAR SAAI AT G AT I =)

alsitara aletrr SFwREeT ARiaergst Option folwra W :

(1) 13731 AT AR
(A i pai e T e
(3) | 3R AeqaT AT

(4) | 3TRT I AlTetar A

[Question ID = 2464][Question Description = Q86_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9853]
2. 2 [Option ID = 9854]
3. 3 [Option ID = 9855]
4. 4 [Option ID = 9856]

Correct Answer :-
e 1 [Option ID = 9853]
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TERATD- (A) @ o YA AT TEATT YA A A== |
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ﬂﬁ'option@srm—

(1) A- AT R- ATARITT
(2) A 3R RHATedr AR
3 A- 3T IR R- 3T A

(4) A NHIR AlA=aT 7

[Question ID = 2465][Question Description = Q87_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9857]
2. 2 [Option ID = 9858]
3. 3 [Option ID = 9859]
4. 4 [Option ID = 9860]

Correct Answer :-



e 1 [Option ID = 9857]

BT AR (A) 3R SATgI (R) @ 31 o1 3iRTef2r W

IO ()  : wore T anfgee weuran farreT 31RY el G ST g
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Uﬁ'{Option}Eﬁ'm:

(1) A 3THIRAdaar ARIfeer
(2) A AR R- 3T
(3) A 3T R- 3T IR

(4) AR Hieleldl 1aF

[Question ID = 2466][Question Description = Q88_BODO_SHAAN_4DEC_S1_Shift2]
1 [Option ID = 9861]
2 [Option ID = 9862]
3 [Option ID = 9863]
4 [Option ID = 9864]

A w N =

Correct Answer :-
e 1 [Option ID = 9861]

89)  anpTTa GIART SRR (A) HRY SR (R) @ AN AT MR wE-
THRART (A) : TSI JaHTel el ATAINAT 9T Tdral TTETHTHANT |

o |

SR (R) : AT BT, SRIA 3R Il arafe arafe fatafamrae war ant gafs

TG TR YT O e g A
e Option © O T@:

(1) AR RAFET T

@) A T3 R FTARI
(3) A3TIARITHR AT
(4) AR R AAST TR

[Question ID = 2467][Question Description = Q89_BODO_SHAAN_4DEC_S1_Shift2]
1 [Option ID = 9865]
2 [Option ID = 9866]
3 [Option ID = 9867]
4 [Option ID = 9868]

AN wnN -

Correct Answer :-
e 1 [Option ID = 9865]

TETATsT BT (A) 3T STEIT (R) AT AR TR
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314 Option @t HE-

(1) A3 3R R- 3T
(2)  A-3TRYR Fleotal IR
(3) AR Hiseral 8

(4) A 3HTIE R- 3T AR T

[Question ID = 2468][Question Description = Q90_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9869]
2. 2 [Option ID = 9870]
3. 3 [Option ID = 9871]
4. 4 [Option ID = 9872]

Correct Answer :-
e 1 [Option ID = 9869]
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IET, G-I UaT GHT arddl A1-H AR gaT| Alded RN, Hldleo Tadlid| dat A EHRIA
HTEEHT | FEART Sfeerara Stat AlstieeT SR gl s SRl SenarT| 3ard SH ST
A Sellel Hleoliadie IAGE Tieell gHAT| el Tl fERT JABRI 9 HRT fhars-
HHAAERE Gl STARe WrATeRE! BRI QoA Alsilsll JaBRI Araidecial aRT d@iell il
AstAE | TR AR SEEEr R G @i gaERiE O FE sraerd! e
HATHBRT FRTe STHERE! S Sarafet A Ter o

START SR ARG E! A A=A

31« Option @ H@IE:

(1)  AEfw (2) gHEmEmEwE-
(3 dEfEwE (4) ITEEEeeTAR

[Question ID = 2469][Question Description = Q91_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9873]
2. 2 [Option ID = 9874]
3. 3 [Option ID = 9875]
4. 4 [Option ID = 9876]

Correct Answer :-
e 1 [Option ID = 9873]

BT TGS @ T SahRE! -

TRIElgl1-

AR AR Al FER g vaa HeE Saar 3f s grn-aaaE oaE A, 969,
AT AT ST STARBRE! FARAT ST BRI AT AFRGRT SR e | SR grer vael
TET, G-I UAT SHT SHdE! AN RN §24T| Fisteatl SENA, AldTedT Telaliad | JaAT AATGHRI
ITEEHNT | AT SfeerTa stal AlstleeT R st s SHA—hRE! STemrr| 314 W 5o
T Sellel Hiefoiadfel JAgEl Aol gHAAT| el Aol FaERT HABR S 3RT ftharrs-
HHEAIERE Tl SAAR WrareRE! R WeH | Al HAER1 Araideens aRT d@ell T

R P e VRN W i — n fe

s 5 = sy w3



Tl ielay | ISNTISD oimisias=al T3 OIS 19imiie S g E‘;l‘i‘ﬂl{lﬂ o EIr i3l ﬂ::lnﬂ'ﬂﬂ'ill'll

HARIHRT IR STHERE! Va1 STearafel 2 e e

AARGT STE AEEHA-

31l Option @ AMEE:

(1) A TETHNT (2) HETEAT
(3 AEemEET (4) IR

[Question ID = 2470][Question Description = Q92_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9877]
2. 2 [Option ID = 9878]
3. 3 [Option ID = 9879]
4. 4 [Option ID = 9880]

Correct Answer :-
e 1 [Option ID = 9877]

MR SEee @ SR SiAahRE! tha-

G-

HABRT S AETIHAET | SHR GTer Taal 37616 S| $fel 3Tl gram-aamana o1 &, d,
37AT IS SEm \ﬂduwm‘?gmmm AT HETE AT AEESRT SR Fetaan SER ger vaat
AT, GRS ULl SHT Samddl A8 AR §4T] Hifeel SR, HisiTeel 91| Jd0T AATTHRTA
STEeTHI | AT Jlecrard stdT Hlsileell SHR graTisl Thas-SHuR—IGRE! S| 341 &E g
T Sellot Heflldfel IEME Teell FHAT| el Aol FIERT ABRE S 3RT s
THEARIBRE! ATl STrafer @rareRal fBRT @rerAl| A JaeRT Aafeerar IRt el e
AstAl| IR AmfEt siaEr R @At d@ifon gaerE @ G sreEeEt g
HATAHRT TSR SATHBRE! Vel STATeT 2T T |

e Option 9 @t:

(1)  3marefafeiwRT
@) BTSN IhRT

(3)  IAPRIHE
4) cafaswr

[Question ID = 2471][Question Description = Q93_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9881]
2. 2 [Option ID = 9882]
3. 3 [Option ID = 9883]
4. 4 [Option ID = 9884]

Correct Answer :-
e 1 [Option ID = 9881]

IMETT TETeE FRERT SahRE! -

TAIElgl1-

PRI AR A FER 6T vaa1 HeE Sar| 3fe s RS O 3, E9,
AT AATE ST STARBRE! FURAT ST BRI AT AFRGRT SR 3| SR grel va
IET, G-I UAT AT GarTadl A1 AR gaT| Alded SR, Al Tl | dar AAfamRia
ITEEHANT | FEATT Sfeerara stat Alstieet SR gl s SR STenardr| 3414 W 5o
A Sellel Hieoiaaie Al Tl gHAT| el Al f6RT JaBRiE 9 HRT fthars-
HHAERE Toll SAART WraTeRE! BRI WA Alilel IER1 Aailesl aRT dielt T
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HAATAERT SR STHBRE! Vel STeAfeT AT T o]

STADRT ATAIBRE! AT HistTHl-
3 Option Tra@ @t

(1)  Faf e

(2) A 3 HisAT
(8)  FuEEHT

4) EEAEe

[Question ID = 2472][Question Description = Q94_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9885]
2. 2 [Option ID = 9886]
3. 3 [Option ID = 9887]
4. 4 [Option ID = 9888]

Correct Answer :-
e 1 [Option ID = 9885]

%) Merafs SUEEE! HUaaR Siaahra! -

TATElGl1-

HABRT AR AEfIHR | R g vael 3MarE o] el 3R g AT H, IR,
AT AATE ST STARBRE! FURAT ST GRETA AT AFRGRT SR 3| a6 grel vaa
IET, G-I UaT GHT arddl A1-H AR gaT| Alded RN, Hldleo Tadlid| dat A EHRIA
STEEHIT | ST Ffeorana Stall AleTTeel SRR grantel TS -HHAAhRE! STemT| 31714 W 56
A Sellel Hleoliadie IAGE Tieell gHAT| el Tl fERT JABRI 9 HRT fhars-
HHAAERE Gl STARe WrATeRE! BRI QoA Alsilsll JaBRI Araidecial aRT d@iell il
AstAE | TR AR SEEEr R G @i gaERiE O FE sraerd! e
HATHBRT FRTe STHERE! S Sarafet A Ter o

HATAT 3T Jieorard AT ARHIA-
&t Option g @t

(1)  grEm-aangEt

2 frus-amuamaat

(3) H-oumrEt

4)  Fraezat
[Question ID = 2473][Question Description = Q95_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9889]
2. 2 [Option ID = 9890]

3. 3 [Option ID = 9891]
4. 4 [Option ID = 9892]

Correct Answer :-
e 1 [Option ID = 9889]

Topic:- Bodo_SET1_C
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SR ST STy ST SHerr Gy et Al v grRgan seran gar, T
mwwmwmﬂﬁ@swmmmwmmm
AERE aaEfEar g saaafa RS g et ¥ RN TR R A Hiewr Jge
TEATHAR el §8 BA=aa! eE=T MAA Jdied, T8 AATGE! glarEr 31 var fasmanst =,
AR 3RT Tl Sy ARt SR, 7 garal Arferel SwR I st & g griva)

T GIREAT ATecT b SXEG!-
914 Option ©t TRE:

(1) i At gafawa
(2)  dNerIgrEfahr

(8) =R feRaT aafawm
(4) 3 naEtAaEEwR

[Question ID = 2474][Question Description = Q96_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9893]
2. 2 [Option ID = 9894]
3. 3 [Option ID = 9895]
4. 4 [Option ID = 9896]

Correct Answer :-
e 1 [Option ID = 9893]

T GIRE- TGt I PRI Arfe; SATRTATET HIAERT AT HIeT gk T a0 31 A=
SR SR T8 AARE - AfAAR 'g"c'(lﬁ&!uﬂcfi @il v IR mﬁmﬁgat i
§a—imﬁ¢ﬁr e I HE, - AT, MAATI-STHATI, FlET-GET, Sreta-2ar, DA
AFETAERT T Tl IRReT I[de §IROR RIS IdeT | S AR FThiAar Jasie ana anafe 3RT
At aafefaar grar AaaEts Ao g aaEt & AERiE T g AFwr ST agrer
TIATHAA FIET| TR feeal eEaT AT sied, ARY ATGE! glarare S var et =,
FTeT 3RT forelt STy A seREtey, 1 gaTEt Al SR e st o T i)

ORI e GTREE AT 3@ gl g1l
'cflﬂ'OptionE’i'Hl?T@':

(1)  Fmari IEREfet st
(2)  STU FEREA T AT
(3)  THGTR AERAeAi A=At
@)  RHEER smaREi AeEt

[Question ID = 2475][Question Description = Q97_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9897]
2. 2 [Option ID = 9898]
3. 3 [Option ID = 9899]
4. 4 [Option ID = 9900]

Correct Answer :-
e 1 [Option ID = 9897]
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@-ﬂﬁﬁr I I T, AL A, MAATI-SFTHATI, FlET-GET, SiaitH- 3T, gwfoluﬂq-
AAETAHRT T Tl IRRedTe I[del §TRBR IS IdeT | S AR FIhiAar Fsie aa andie 3RT
AR ST g Aaaaia AR 7 MaE! § JEMT TR §RF HleTh HisTwr SEeir
GeNHeAl dle| 99 fgerstaat c@ar aadar Jdied, 9 AATaE! glarnr s ver gasmarEr =,
AT 3RT T Sy AT e, 7 gardt Arfel SR e st & gk gria)

wm@qﬂmg‘{r@?mﬁtﬁlﬁ-
1 Option Tl arE:

(1)  #ARTRER AR TG

2) e 3R EAEEiaar
(3)  AEIREN 3R TEfe =i

4)  ARTER AR SAEET2=G

[Question ID = 2476][Question Description = Q98_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9901]
2. 2 [Option ID = 9902]
3. 3 [Option ID = 9903]
4. 4 [Option ID = 9904]

Correct Answer :-
e 1 [Option ID = 9901]

T EIRE- JgAfa g FTRSRI arfe SR A safasm w8 el fard avsn s
mﬁrmmm@ﬁm?ﬂﬂm?ﬂﬁ&mmimﬁm’mlmﬁwﬁﬁ,ﬁm
§‘c:r-iltﬁﬁﬁ‘r e I AT, oit- SAETa-dia, MAATI-STHAT, FIET-GET, Srera-gar, FIECIRE
AFETAHRT T Tl IRRecTe IdeT §TRORIRIS IdeT | S AGIR T FTshiHar FsTei aa andfe 3RT
AR ST gar Aaamte ISt M9 MaEt & JAERiE TR gRF JA% A% ageim
TIEATHA FIET| TR Eeteal euaT AT diea, ARY AATaE! glarrs ST uar fGersdrstr <,
AT HRY o S AR SRy, 77 gard! Afel SER At s g g

a8 AT A e g
'rlﬁ'Option ot arr:

1) g IR TS anetarg=it
(2) ST A==t
(3) AT A=A

(4) CTEAT A AT

[Question ID = 2477][Question Description = Q99_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9905]
2. 2 [Option ID = 9906]
3. 3 [Option ID = 9907]
4. 4 [Option ID = 9908]

Correct Answer :-
e 1 [Option ID = 9905]
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AR ST gar Aaamts ISt g MaE!t & JARfa TR gRF JlAT AW ageiT
TETHsT FaT| TR BeTeTaal GEaT A sjdiea, ARY ATOE! gl o TaT fGetemarsit o,
o=t afefer faeeara smenfy St e GerEerT e, IS AR g gritg fae o gt
AR HRY ot S AR sRaEtey, 77 gard! Afaer SHR s 3 g g

TIHIA ST FIGRT Alled Aol MA@l AR e HIAH AT HeL 6 T-2el-
e Option @ O E:

(1) raT AEAE A
2) ARl Aot

(3) IwrEEEfAEASE
(4) A ETRE Rfasrast

[Question ID = 2478][Question Description = Q100_BODO_SHAAN_4DEC_S1_Shift2]
1. 1 [Option ID = 9909]
2. 2 [Option ID = 9910]
3. 3 [Option ID = 9911]
4. 4 [Option ID = 9912]

Correct Answer :-
e 1 [Option ID = 9909]

Topic:- GP_SET10_shift2_A

1 The following table presents the number of Registered and Pending criminal cases
(in Thousands) relating to three (3) crimes namely Larceny, Arson and Carjacking in each
vear from 2015 to 2020, Based on the data in the table answer the question.

Year—wise Criminal Cases (in Thousands)

Crime Larceny Arson Carjacking
_b
Year¢ Registered | Pending | Registered | Pending | Registered | Pending

2015 21 15 hh 29 15 12
2016 42 32 30 26 21 11
2017 3b 20 60 39 50 15
2018 25 14 45 20 20 10
2019 65 44 60 49 40 22
2020 80 55 35 18 75 55

What is the number of solved Arson cases in the year 2015 as an approximate percentage of
all the pending Arson cases from the year 2015 to 20207

(1) 20% (2) 25%
(3) 15% (4) 30%

fifr @fe a9 2015 ® 2020 7% * T 99 ® =R, AFTAHl, 97 amd-an o9 dF ol |
Trafag Teiiga i famde sty amal (79 9) #owgd #d 7 | difoe #§ f2m et +
TER W A9 w3 A |

ST WIEe i a9an we (2 )



A = AP A=
_b,
=4 ¢ Te (A | FERIHE | TSEEd | FEmdE | g | e

2015 21 15 55 29 15 12
2016 42 32 30 26 21 11
2017 35 20 60 39 50 15
2018 25 14 45 20 20 10
2019 65 44 60 49 40 22
2020 80 5b 35 18 75 55

=4 2015 B 2020 7% % A % meft fEwef awel fi sgeEa afawEa, 2015 | w9 e ome

AT = HEE] 1 W % =Y W F97 w7

(1) 20% (Z) 2b%

(3) 15% 4y 30%
[Question ID = 2779][Question Description = Q1_GP_Set10_S1_Shift2]
1.1

[Option ID = 11113]
2.2

[Option ID = 11114]
3.3

[Option ID = 11115]
4. 4

[Option ID = 11116]
Correct Answer :-
o 1

[Option ID = 11113]

2) The following table presents the number of Registered and Pending criminal cases
(in Thousands) relating to three (3) crimes namely Larceny, Arson and Carjacking in each
vear from 2015 to 2020, Based on the data in the table answer the question.

Year—wise Criminal Cases (in Thousands)

Crime Larceny Arson Carjacking
_h
Year¢ Registered | Pending | Registered | Pending | Registered | Pending

2015 21 15 hh 29 15 12
2016 42 32 30 26 21 11
2017 3b 20 60 39 50 15
2018 25 14 45 20 20 10
2019 65 44 60 49 40 22
2020 80 55 35 18 75 55

Which of the given years marked the maximum percentage increase in registered Carjacking
cases over its previous year?

(1) 2016 (2) 2017
(3) 2018 4 2019
fiferg arferr a4 2015 & 2020 o% # i@ 99 § =91, AP, R aEa-a 39 9 srmdt o

grEf-ag Yssfida 3 foamdia st awel (59 °) 1 Egd wdl 8 | arfer § 90 T st &
YN W 991 1 I 3 |

AT WIEEA] i a9an we (FAn H)

I = AT A=
—>
2015 21 15 25 29 15 12
N1 2 Ay Dy Oy Do (3% 11




2017 35 20 60 39 50 15
2018 25 14 45 20 20 10
2019 65 44 60 49 40 22
2020 80 bb 35 18 75 55

et 71 1 9o § BFE 99 F Uit aeA-i e i sArasman el § 3G 55 2 7

(1) 2016 (2) 2017

(3) 2018 4y 2019
[Question ID = 2780][Question Description = Q2_GP_Set10_S1_Shift2]
1.1

[Option ID = 11117]
2.2

[Option ID = 11118]
3.3

[Option ID = 11119]
4. 4

[Option ID = 11120]
Correct Answer :-
o 1

[Option ID = 11117]

3) The following table presents the number of Registered and Pending criminal cases
(in Thousands) relating to three (3) crimes namely Larceny, Arson and Carjacking in each
vear from 2015 to 2020, Based on the data in the table answer the question.

Year—wise Criminal Cases (in Thousands)

Crime Larceny Arson Carjacking
_h
Year¢ Registered | Pending | Registered | Pending | Registered | Pending

2015 21 15 hh 29 15 12
2016 42 32 30 26 21 11
2017 35 20 60 39 50 15
2018 25 14 45 20 20 10
2019 65 44 60 49 40 22
2020 80 55 35 18 75 55

For which year was the ‘Success rate’ the lowest? (Success Rate means total criminal cases
against total registered cases in an year) :

(1) 2016 (2) 2017
(3) 2018 (4) 2019

fiferg aifer a9 2015 ® 2020 9% & 93 a9 § =961, 9P, @R aEa-=r 39 9 et o
TSty TesiHa SR e At A (R 9) FOWEgd FAdl # | @ifee ® fa T emEst +
TG 9 999 ] 39 2 |

A ST i TR JEA (R )

T = AT A=W
_’
<4 ¢ Tesia | FEmHE | TSEEa | FEmdE | asgd | e

2015 21 15 515] 29 15 12
2016 42 32 30 26 N 11
2017 35 20 60 39 50 15
2018 25 14 45 20 20 10
2019 65 44 GO 49 40 22
2020 30 55 35 18 th 55




HRTAT 1 5L TRE F9 H [°IC AdH AT (HRIT 5F 1 FY Th F9 H Food Y==hd AHAT H H FeT &

(1) 2016 (2 2017

(3) 2018 4) 2019
[Question ID = 2781][Question Description = Q3_GP_Set10_S1_Shift2]
1.1

[Option ID = 11121]
2.2

[Option ID = 11122]
3.3

[Option ID = 11123]
4. 4

[Option ID = 11124]
Correct Answer :-
e 1

[Option ID = 11121]

4 The following table presents the number of Reglstered and Pending criminal cases
(in Thousands) relating to three (3) crimes namely Larceny, Arson and Carjacking in each
vear from 2015 to 2020, Based on the data in the table answer the question.

Year—wise Criminal Cases (in Thousands)

Crime Larceny Arson Carjacking
_P
Year¢ Registered | Pending | Registered | Pending | Registered | Pending

2015 21 15 1) 29 15 12
2016 42 32 30 26 21 11
2017 3b 20 60 39 50 15
2018 25 14 45 20 20 10
2019 s} 44 60 49 40 22
2020 80 a5 35 18 75 55

Approximately. what is the percentage of solved Carjacking cases in the vear 2019 to the
total number of registered cases in that year?

(1) 11% (2) 18%
(3) 15% @ 20%
frifre @ferm a9 2015 ® 2020 7% * T3 @4 ® =W, drTA, o amA-=n S| d9 ol |

Hrsfeay Tesiida @R famde satys ame (7 0) F wEgd Fdt 2 | difes § f2g st &
TGN W UTA I A |

STIfers mHE i Fian @en (zEE H)

—>
e “ TeA A | FERHE | wssiga | EEdE | 1 | EEmdE
2015 21 15 55 29 15 12
2016 432 32 30 26 2 11
2017 35 20 GO 39 50 15
2018 25 14 45 20 20 10
2019 65 44 G0 49 40 22
2020 30 5b 35 18 i3] 55

=9 2019 ¥ =1eA =i F TFa B AE i g § @ 99 9 T F = 5 7w amat fi et
BIGEIGE| Wﬁ?

1 11% (2) 18%
(3  15% 4  20%



[Question ID = 2782][Question Description = Q4_GP_Set10_S1_Shift2]
1.1

[Option ID = 11125]
2.2

[Option ID = 11126]
3.3

[Option ID = 11127]
4. 4

[Option ID = 11128]
Correct Answer :-
o 1

[Option ID = 11125]

%) The following table presents the number of Registered and Pending criminal cases
(in Thousands) relating to three (3) crimes namely Larceny, Arson and Carjacking in each
vear from 2015 to 2020, Based on the data in the table answer the question.

Year—wise Criminal Cases (in Thousands)

Crime Larceny Arson Carjacking
_h
Year¢ Registered | Pending | Registered | Pending | Registered | Pending

2015 21 15 hh 29 15 12
2016 42 32 30 26 21 11
2017 35 20 60 39 50 15
2018 25 14 45 20 20 10
2019 65 44 60 49 40 22
2020 80 55 35 18 75 55

What is the ratio of the number of solved Larceny cases in 2017 compared to the number of
solved Carjacking cases in 20157

(1) 1:5 2 243
{3) 3:2 4 5:1
fifRg aifer a9 2015 ® 2020 9% % T4 99 § IR, AP, R aea-a 39 9 ot

Trsfg Teiga i e sty amat (79 6) #owgd w3 7 | aifoe # f2m e oamwst +
SN W A9 I |

AT WIEe] i T9ar we (7 )

_’

- ¢ T | AR | TS | e | e | e
2015 21 15 55 29 15 12
2016 42 32 30 26 n il
2017 35 20 G0 39 50 15
2018 25 14 45 20 20 10
2019 65 44 G0 49 40 22
2020 30 55 35 18 5 55

2017 ¥ == Fru u =ift % "W G #2015 | 54 R 70 GmEa-=i o HiEe sl G o 9=
ST &7

(1)

1% (2 2
(3) 3 Ry

it
4 5:1

Lo O

[Question ID = 2783][Question Description = Q5_GP_Set10_S1_Shift2]
1. 1

[Option ID = 11129]
2.2

[Option ID = 11130]



3.3

[Option ID = 11131]
4. 4

[Option ID = 11132]
Correct Answer :-
e 1

[Option ID = 11129]

Topic:- GP_SET10_shift2_B

1) What is the name of the approach which refers to teacher statements that encourage
students to elaborate on an answer — either their own or another students?

(1) Probing (2) Structuring

(3) Task orientation (4) Remediation

IO I9FTY 1 F1 AW & A D5 F 9w ° ey e & 5 it = e # e = 1 o =
fordl Wieaifed a1 & - =18 97 S AU 36 Al A1 ga T e
()  wr=-vgae (2) T

T

(3) FEET (4) u=EEE

[Question ID = 2784][Question Description = Q06_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11133]

2. 2 [Option ID = 11134]

3. 3 [Option ID = 11135]

4. 4 [Option ID = 11136]

Correct Answer :-

e 1 [Option ID = 11133]

2)  Which of these decision traps pertain to processing skills?
(A) Poor group process
(B) Ignoring negative feed back
(0 Not keeping records
(D)  Taking shortcuts

(E) Poor frame control

Choose the correct answer from the options given helow :
(1) (A). (B). (C) only (2)  (A), (D), (E) only
(3) (B). (C). (D) only (4) (C). (D), (E) only
fr=fafaa 9 @ Fi5-3 o 9 (ffasm 29) mmam Fioe 3 g@etag 27
(A)  guw TgE qiwE
(B)  AIcHS WA9E = Fewaters He
(C)  wAfyema 7=
(D) - o
(E) 3= ¥4 fem
== fau o T | O O 3w =EA i
(1) == (). (B), (C) (2) F= (A), (D). (E)
(3) %= (B). (C). (D) (@) == (C). (D). ()

[Question ID = 2785][Question Description = Q07_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11137]



2. 2 [Option ID = 11138]
3. 3 [Option ID = 11139]
4. 4 [Option ID = 11140]

Correct Answer :-
e 1 [Option ID = 11137]

3) Arrange the steps for building a portfolio for your teaching area from beginning to last step

order

(A) Decide who will plan the portfolio

(B) Decide on the purpose for a portfolio

(C) Decide which products and how many samples to put in the portfolio
(D) Identify cognitive skills and dispositions

(E) Build the portfolio rubrics

Choose the correct answer from the options given below :

(1) (A). (O). (B). (D). (E) (2)  (B). (D). (A). (C). (E)
(3) (D). (C). (B). (A). (E) 4y (E), (B). (A). (C), (D)
AT T &7 1 TR 59 % =0 ] UNeE § fan 9 % %5 8 Aty w71 o

(A) 7" A R aEwiferE i At

(B)  UEWITE] 1 32TF a9 HAl

(C) o9 %A1 T arwifer § #5-%1 8 3017 #1997 7 9

(D)  ESFIEEF FUE! AR TEEE F TR Fw

S ECERD % sl
(E) JEHI ] Big A1

= fau o famwenl | O w9 3w =99 il

(1) (A). (C). (B), (D). (E) (2) (B). (D), (A). (C), (E)
(3) (D). (C). (B). (A). (E) 4) (E). (B). (A). (C). (D)

[Question ID = 2786][Question Description = Q08_GP_Set10_51_Shift1]
1. 1 [Option ID = 11141]
2. 2 [Option ID = 11142]
3. 3 [Option ID = 11143]
4. 4 [Option ID = 11144]

Correct Answer :-
e 1 [Option ID = 11141]

4) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reazon (R) :
Assertion (A) : A learner centered approach provides best experience for learners.

Reasons (R) : Learner centered approach does not acknowledge the needs of the learner
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In the light of the above statements. choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (4)

(3) (A) 1s true but (R) 1= falze

(4) (A) 1s falze but (R) 1s true
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[Question ID = 2787][Question Description = Q09_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11145]
2. 2 [Option ID = 11146]
3. 3 [Option ID = 11147]
4. 4 [Option ID = 11148]
Correct Answer :-
e 1 [Option ID = 11145]
5) i : il
Match List I with Last IT
Last1 List IT
Name of creativity block Action
(A) Perceptual Block (' Lack of. or incorrect, information
(B) Emotional Block (IT) Difficulty in 1solating the problem
(C) Intellectual Block (III) Playfulness is for children only
(D) Cultural Block (IV) Lack of access to areas of imagination

Choose the correct answer from the options given below :

(1) (A)-ID. (B)-(IV). (C)-(D). (D)-(IID)
(2) (A)-(IV), (B)-(D). (C)-(1ID), (D)-(II)
3)  (A-D). (B)-AID. (C)-(ID). (D)-(IV)
4) (A)-(III), (B)-(II), (C)-(TV), (D)-(T)
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1) (A)-D). B)-(IV), (C)-(I). (D)-(IIT)
@ (-AV). B)-D. (C)-(1II), (D)-ID
(3) (A0, (B)-AID). (O)-(ID). D)-IV)
4 (A)-ID. (B)-ID). (C)-(IV). (D)-(D)

[Question ID = 2788][Question Description = Q10_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11149]
2. 2 [Option ID = 11150]
3. 3 [Option ID = 11151]
4. 4 [Option ID = 11152]

Correct Answer :-
e 1 [Option ID = 11149]

) The positivist researchers consider reality as
(1) Subjective (2) Objective
(3) Neutral (4) Insignificant

TFRIET Tg=al ariaal F1 5E =0 2 2 7

(1)  TawatE (2) FEHE

(3) q25 (4) =
[Question ID = 2789][Question Description = Q11_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11153]
2. 2 [Option ID = 11154]
3. 3 [Option ID = 11155]
4. 4 [Option ID = 11156]
Correct Answer :-

e 1 [Option ID = 11153]

7) The elements of a cross-sectional design are :
(A) Absence of quantitative data
(B) Domination of qualitative data
(C) A sample of cases with inter-related variations
(D) Data are collected at a single point time

(E) Examination of relationships between variables

Choose the correct answer from the options given below :
(1) (A). (B). (C) only 2y (B). (C). (D) only

(3) (C). (D). (E) only (4)  (A). (C), (E) only



WI‘F—F\GJHFI. fﬂiq\'}?ﬂ %?‘I"_c[%

(A)  URHITTEF 59 H 3THE

(B) TN oA I WAl

(C)  Far-dsiad 9RaaHl atel 5TE] B iaesl

D) T F vF faem fag w e = wmE R o 2

(E) =0 % o= % Hedi 1 oiem

S A Tu fasegl § U E 39 % =9Ed Hi

(1) F=+ (A). (B). (C) (2)  Fa= (B). (C). (D)

(3)  Fa= (C). (D). (E) (4) I (A). (C). (E)

[Question ID = 2790][Question Description = Q12_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11157]
2. 2 [Option ID = 11158]
3. 3 [Option ID = 11159]
4. 4 [Option ID = 11160]

Correct Answer :-
e 1 [Option ID = 11157]

8) The advantages of structured interview are :
(A) Provides limited choices that reduce the possibility of generalization
(B) Standardises questions
(C)  Accuracy i= possible to a large extent

(D)  Data processing 1s easy

(E) Misinerpretation 1s possible due to strict standardisation

Choose the correct answer from the options given below :
(1) (A). (B), (C) only 2y (B). (C). (D) only
(3) (C). (D). (E) only (4)  (A). (D). (E) only
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(D) & AT W A A
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(1) &= (A). (B). (C) (2) == (B). (O). (D)
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[Question ID = 2791][Question Description = Q13_GP_Set10_S1_Shift1]
1 [Option ID = 11161]
2 [Option ID = 11162]
3 [Option ID = 11163]
4 [Option ID = 11164]

A w N =

Correct Answer :-
e 1 [Option ID = 11161]

9) Given below are two statements :

Statement I: The opinion that history must emerge from archives is questioned repeatedly

over a period of time.

Statement II: Content fidelity compels history researchers to seek several sources of

information.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement 1T are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1z false but Statement II is true
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[Question ID = 2792][Question Description = Q14_GP_Set10_S1_Shift1]
1 [Option ID = 11165]
2 [Option ID = 11166]
3 [Option ID = 11167]
4 [Option ID = 11168]

A WN -

Correct Answer :-
e 1 [Option ID = 11165]

10)  Match List T with List IT

List I List IT
Research Components Characteristic Feature



(A) Concept (I} A clear statement of what to be

observed

(B) Marker variable (II) A method to establish a point of prior
equivalence

(C) Operational definition (ITT) An ahstract idea

(D) Pre-test (IV) An important empirical counterpart of
an idea

Choose the correct answer from the options given below :

(1 (A)-@, (B)-AD. (C)-(ID), (D)-(IV)
@) (A)-(ID, (B)(II). (C)-IV), (D)D)
(3) (A, (B)-AV). (C)-(D). (D)-I)
@ (A)-aQV). B)-@. (C)-al). (D)-(1I)

geft-1 = @ -1 1 faee Fifw
g1 =111
(A)  THeT @ T2 FuA 5 e ve e S E
(B) T=&® = (AD) 99 TAgeaa = g 1 T wE At
(C) wHiFamens qear I0) = fo=m
(D) T (IV) Tt fomm =1 wecaqn g ufaey

= 21 o fomel § W wE 39 R 999 i

L (A)-(I). (B)-(1I), (C)-(III). (D)-(IV)

(#3)] (A)-(IT). (B)-(I1I). (C)-(IV), (D)D)

(3) (A)-(IID), (B)-(IV), (C)-(I), (D)-(I)

4) (A)-(IV). (B)-(D). (C)-II). (D)-(III)
[Question ID = 2793][Question Description = Q15_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11169]
2. 2 [Option ID = 11170]

3. 3 [Option ID = 11171]
4. 4 [Option ID = 11172]

Correct Answer :-
e 1 [Option ID = 11169]

One of the contributive factors for a hetter ecosphere in a cross-cultural classroom
situation 1s

(1) Non-confirmatory stare (2) Heavily loaded accent

(3 Avoidance of personal contact (4) Gatekeeping of stereotypes

SAAH TR O AT AT | SEa M A T o (6 AEeE o A e ° " O

(1) 7w 3 (2) fq i ==
(3) = AeaE i FFEE (4) =leag grmsT %1 ZEdEH

[Question ID = 2794][Question Description = Q16_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11173]
2. 2 [Option ID = 11174]
3. 3 [Option ID = 11175]
4. 4 [Option ID = 11176]

Correct Answer :-
e 1 [Option ID = 11173]



12 : . : : . ;s ;
) In constructive contexts of effective listening behavior, classroom communication 1s
characterized by

(A) Identification of the common ground

(B) Finding out the areas of mutual agreement
(C) Seeing the real issues

(D) Permitting different interpretations

(E) Varied perspectives of the common message

Choose the correct anzwer from the options given below :
(1) (A), (B) and (C) only (2)  (B), (C) and (D) only
(3 (C). (D) and (E) only (4) (A, (C) and (E) only

o
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(A)  TEE SER i TEEE
(B) R mEHid % &F i @E
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(1) == (A), (B) 3117 (C) (2) Fa= (B). (C) 5K (D)
(3) === (C). (D) 1 (E) (4) F=A (A). (C) 51 (E)

[Question ID = 2795][Question Description = Q17_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11177]
2. 2 [Option ID = 11178]
3. 3 [Option ID = 11179]
4. 4 [Option ID = 11180]

Correct Answer :-
e 1 [Option ID = 11177]

13) Given below are two statements :

Statement I: Differences in orientation. habits and interests will affect the classroom
communication process

Statement II: Age differences do not matter when we consider semantic noise

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1= false but Statement II is true
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[Question ID = 2796][Question Description = Q18_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11181]



2. 2 [Option ID = 11182]
3. 3 [Option ID = 11183]
4. 4 [Option ID = 11184]

Correct Answer :-
e 1 [Option ID = 11181]

The sequence of individual differences In communication 1s
(A) Needs

(B) Values

(C) Beliefs

(D)  Opinion

Choose the correct answer from the options given below :

(L) (&), D). (B), () (2) (B). (D). (C). (A)
(3)  (C), (D). (B). (A) 4) (A B), (). D)

()  FEgIFan

(B) Pl
(C) Tawam=m
(D) =4

/= f2u U e 5 1 wE 3 W = A
(1) (A). (D). (B). (C) (2)  (B). (D). (C). (A)
3 (0. D). B). @A @ Q. (B). (C). (D)

[Question ID = 2797][Question Description = Q19_GP_Set10_5S1_Shift1]
1. 1 [Option ID = 11185]
2. 2 [Option ID = 11186]
3. 3 [Option ID = 11187]
4. 4 [Option ID = 11188]

Correct Answer :-
e 1 [Option ID = 11185]

15) Match List I with List IT

ListI List II
Barriers in Communication Description
(A) Channel noise ()  State of disorder
(B} Semantic nolse (II) Dfference in perception
(C) Psychological noise (III) Language disorder
(D) Entropy (IV) Interference with the medium

Choose the correct answer from the options given below :

(1) (A)-(ID). (B)-(III). (C)-(I). (D)-(IV)
2 (A-AV), (B)-ID), (C)-IT), (D)-(D)
(3) (A)-(ID). (B)-(IV). (C)-(D). (D)-(ID)
4 (A-D. (B)-ID). (C)-(IV). (D)-(III)

FH-1 = = -1 e i
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D) (A)-AD), B)-AID). (C)-(D). @)-AV)
@ (A)-AV). B)-(ID), (C)-D), (D)-(D
(3)  (A)-ID). (B)-AV). (C)-T), D)-aD
@ (A)-O. (B)-AD). (C)-aAV). (D)-AID

[Question ID = 2798][Question Description = Q20_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11189]
2. 2 [Option ID = 11190]
3. 3 [Option ID = 11191]
4. 4 [Option ID = 11192]

Correct Answer :-

o 1 [Option ID = 11189]

16)  Consider following statements :

(A) If a pipe can fill a tank in x hours, the part filled in 1 hour is 7 1
+x

(B) If a pipe can empty a full tank in ¥ hours. the part emptied in 1 hour is &
¥y

(C) If a pipe can fill a tank in x hours and another pipe can empty the full tank in y hours

(where y > x). then an opening both the pipes, the net part filled in 1 hour = i—l
x ¥

Choose the correct statements from above :

(1) (A) and (C) only (2)  (A) and (B) only
(3 (B) and (C) only 4)  (A). (B) and (C)
f=1 Fo w fa=w Fifew -
A) mmﬁﬁﬁéﬁﬁ%}ﬂxa&ﬁw%ﬁm%ﬁll 1 T R
+x
(B) quﬁﬁﬁaﬁ?ﬁﬁyaﬁﬁ@ﬁm%ﬁlﬁ%ﬁlmﬂ@m&ﬁww%l
y

(C) oFR U% 97 UF ZH K x 92 H WA 2 AR OO AA 9 gE 2 H oy 92§ @l e @
(aﬁ;-:>ﬂ.aa’aﬁ_€ﬁm%mﬂ@?aﬁqmﬁa‘l18%51?%%%3—3341?% |
x oy
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(1)  #3= (A) 317 (C) (2) Fae (A) #F (B)

(3) = (B) 3 (C) 4) (A). (B) 3 (C)
[Question ID = 2799][Question Description = Q21_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11193]
2. 2 [Option ID = 11194]

3. 3 [Option ID = 11195]
4. 4 [Option ID = 11196]

Correct Answer :-

e 1 [Option ID = 11193]

17 3 : o : : P :
) A mixture contains water and milk 1n the ratio 1 : 5. On adding 5 litres of water, the ratio of



milk to water becomes 5 : 2. The quantity of milk in the original mixture 1s :
(1) 16 litres (2) 25 litres
(3) 22 5 litres (4) 32.5 litres

o o 8 ot o g = wgaE 1 5 71 5 ofte ot ol e W, g9 it ael o aqaE 5 2 5 S
7 | Unfeass fagm | g9 %1 afmm 2

(1) 16 et (2) 25wt
(3) 292.5 #ix (4) 32.5we

[Question ID = 2800][Question Description = Q22_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11197]
2. 2 [Option ID = 11198]
3. 3 [Option ID = 11199]
4. 4 [Option ID = 11200]

Correct Answer :-
e 1 [Option ID = 11197]

18)  Ifa sum of money at simple interest doubles 1n 6 years, it will become 4 times In
(1) 14 years (2) 16 years
(3) 18 wears (4) 20 years

ST 99 1 U T WEE A W 6 991 4 g A Al 2 A 9% 9n A A s

(1) 14397 | (2) 169§
(3) 1899 o (4) 20=9 H

[Question ID = 2801][Question Description = Q23_GP_Set10_5S1_Shift1]
1. 1 [Option ID = 11201]
2. 2 [Option ID = 11202]
3. 3 [Option ID = 11203]
4. 4 [Option ID = 11204]

Correct Answer :-
e 1 [Option ID = 11201]

19) The H.C.F. of two numbers iz 12 and their difference iz 12. The numbers are

(k) 96. 84 (2)y 106, 94
(3) 82, 70 (4) 66, 54

»

2 TN T HeeH TUEaE 12 2 3R 39 o ft 12 2| 9 "9

(1) 96, 84 (2) 106, 94

(3) 82,70 (4) 66, 54
[Question ID = 2802][Question Description = Q24_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11205]
2. 2 [Option ID = 11206]

3. 3 [Option ID = 11207]
4. 4 [Option ID = 11208]

Correct Answer :-
e 1 [Option ID = 11205]

20) Given below are two statements

Statement I: The multiplication or divizion of each term of a ratio by a same non-zero
number affects the ratio.

. : . k
Statement II : We say that a is inversely proportional to b if =€ for some constant k.

In the light of the above statements, choose the correct answer from the options given below:

(L Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I iz true but Statement II 1= falze

) Statement I 12 false but Statement I 1s true
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[Question ID = 2803][Question Description = Q25_GP_Set10_S1_Shift1]
. 1 [Option ID = 11209]
2 [Option ID = 11210]

. 3 [Option ID = 11211]
4 [Option ID = 11212]

A W N -

Correct Answer :-
e 1 [Option ID = 11209]

21) e . .
) No one has ever been able to prove the existence of extra sensory perception. We must

therefore conclude that extra-sensory perception iz a myth”. Which one of the following

fallacy iz committed in the above statement?
(1) Slippery slope

(2) Appeal to Ignorance

(3) Haszty generalization

(4) Red herring

“F i, w off weiEE TemE F afee w1 fag F 9 e T g 2| wEiee w6 Aam emEwd e
Tt =iiEe T st e o fmwm 2

ITHFT FF H FA-F BT TG B 7

(1)  TFeEem 399 3am (feawdt =m)
(2)  afagar #1 s (i 2 )

(3)  wERE-mEE (2 )
(4 Ts-fm

[Question ID = 2804][Question Description = Q26_GP_Set10_S1_Shift1]
1 [Option ID = 11213]
2 [Option ID = 11214]
3 [Option ID = 11215]
4 [Option ID = 11216]

AW N =

Correct Answer :-
e 1 [Option ID = 11213]

22) Which of the following types of inference is used when one infers rainfall on the hills from
floods?
(1) Parvavata
(2) Sesavata
(3) Samanyvatodrsta
(4) Samanyalaksanapratyasattl

S FE WG W TS W AT BH W SHEH Sl 2 F Fa feitea 8 # R wwn F saeE w0 wEe
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[Question ID = 2805][Question Description = Q27_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11217]

2. 2 [Option ID = 11218]

3. 3 [Option ID = 11219]

4. 4 [Option ID = 11220]

Correct Answer :-

e 1 [Option ID = 11217]

23)

Given below are two statements ;

Statement I: The formal fallacies of Aristotle are based on the vielations of the formal

structure of the whole syllogism.

Statement II : Fallacies given by the Nailyayikas rest on the viclations of the formal

conditions of the valid middle term or reason.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II is correct

[otis

i 1 Y few T E

FYH (1) : 3T F STHIE o196 GO0 AT 5 A1 G155 SR 0 ST 2 |
For (I) :  F=ntaet = R0 fon 1 semam 39 2 i mew i s et # atawen w G

ST FUF T AT °, 49 5 0 fFwew ¥ ° wed 39 I H 99 Fife

(1) =y I I ee udi & |
(2) Fo 1 37 11 241 o 2 |
(3) = [T B, o %97 11 7ed 2 |

(4) A 1A 7, wifed ®e9 118 2 |

[Question ID = 2806][Question Description = Q28_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11221]
2. 2 [Option ID = 11222]
3. 3 [Option ID = 11223]



4. 4 [Option ID = 11224]
Correct Answer :-

e 1 [Option ID = 11221]

24) YWhich among the following type of relations are considered by Nyava syvstem as necessary
relation between middle and major terms?

(A) Species — specles relation
(B) The causal relation
(C) Member — class relation

(D)  Species — genus relation

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (B)and (C) only

(3) (A), (B) and (C) only 4y (B). (C) and (D) only

fafafan & o f5a 7FR 5 Tl F A § g 39 9 9T % §eF 999 g5 5 57 5 o
3
&I ool

(A) T A
(B) 7% gey

(C)  T==m-=r1 Araryg
(D)  TAIE-F91 A

= fau U e § | w3 e e

(1) Faa A) 37 (D) (2) FA¥ (B) 311 (C)
(3)  F=A (A). (B) # (O) (4) == (B). (C) 21 (D)

[Question ID = 2807][Question Description = Q29_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11225]
2. 2 [Option ID = 11226]
3. 3 [Option ID = 11227]
4. 4 [Option ID = 11228]

Correct Answer :-
e 1 [Option ID = 11225]

25)  This barrel contains 100 apples
Three apples selected at random were found to be ripe. Therefore probably all 100 apples

are ripe.

Which type of argument 1s exemplified in the above set of statements?
(1) Inductive (2y  Deductive

(3) Hypothetical Syllogism (4) Modus Ponens

U U3 § 100 He | Tgfaw ¥ W 94 T 419 H& UF 5 U T | S FEEEq: @9 100 @9 U 50
2 | 3udea ZA1 Al 4 rm ww f g = sgmm 27

(1)  AFFEES @) frrEe
(3)  EraiitE e (4) Taure B FeEEE

[Question ID = 2808][Question Description = Q30_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11229]
2. 2 [Option ID = 11230]
3. 3 [Option ID = 11231]
4. 4 [Option ID = 11232]

Correct Answer :-
e 1 [Option ID = 11229]

26) With respect to combuters. TFT 1z related to -



(1) Memory (2)  Monitor
(3) Input Device (4) Serial Port

(1)  =ad (2) #iFe

(3)  z9E feamwm (4) Hifrge T
[Question ID = 2809][Question Description = Q31_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11233]

2. 2 [Option ID = 11234]
3. 3 [Option ID = 11235]
4. 4 [Option ID = 11236]

Correct Answer :-
e 1 [Option ID = 11233]

27) Identify the correct order of following different types of computer components ranked from
slowest to fastest in terms of access time

(A) RAM
(B) Optical drive
(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :
(1) (C). (A). (D). (B) (2) (B (A). (D). (C)

(3) (D). (C). (B). (A) 4y (B). (D). (A). (C)
UFHE TIEH T ATEW T B % a9d 41§ g9 o &l sl % g8 F9 F geei

(A) FwEm. (i)
(B)  =Aifeshct 359
(C)  Hidg, F=

(D) THTHEL

S fau T fawedt 9 8 OE 3 w1 =99 S

(1) (C), (&), (D), (B) 2) (B). @A), D). O
(3) (D). (C), (B). (&) 4) (B), (D), (A). (O)

[Question ID = 2810][Question Description = Q32_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11237]
2. 2 [Option ID = 11238]
3. 3 [Option ID = 11239]
4. 4 [Option ID = 11240]

Correct Answer :-
e 1 [Option ID = 11237]

Given below are two statements regarding storage devices on a computer :
Statement I: Access time 1s typleally stated in milliseconds for secondary storage devices
and 1n nanoseconds for primary storage devices.

Statement II: Average access time can usually be improved by defragmenting the data
contents of a hard disk.

In the light of the above statements. choose the corrrect answer from the options given
below:



(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3 Statement I 1s true but Statement I 1s false
(4) Statement I 1= false but Statement IT 1= true

= 3wy fag T E

F9 (1) :  UF FrFE W 20 (sAe0 F oreg § o ovstt wie feasts & fou ffasrsa 1
mEEt =i fSamas & fou S9@ETsa | vFHE 25 W TEE =9 6 a6 T E

o (ID) ;AT UFHE 2128 i, BTS-150F % 321 002 % [SHHZ ® HEAH H sSEad A o g 2 |

IUF FYA % A °, A= B T e # 9 5E 39 % =ms Fie

(1) FuF e I3 o = |

(2) e IR I12ET 19eq & |

(3) w19 3, wfeT we Il s 2 |

(4)  FvE 1w 2, it waa [ a3 2 |

[Question ID = 2811][Question Description = Q33_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11241]
2. 2 [Option ID = 11242]
3. 3 [Option ID = 11243]
4. 4 [Option ID = 11244]

Correct Answer :-
e 1 [Option ID = 11241]

29) Which of the following is/are main memory of a computer?

(A) RAM
(B) Hard disk
(C) CDROM

(D) Pen Drive

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)only

(3) (A) only (4) (A). (C) and (D) only
ATt o o R FUE F O TEAT Y
(d) T (i9)

B == ==

(C)  #i3em.aen

(D) T SEE

/= fau U e § |5 wE 3w = i

(1)  =aa (A) 31 (B) (2) =ad (B)

(3)  haw (A) (4) =Ad (A), (C) # (D)

[Question ID = 2812][Question Description = Q34_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11245]
2. 2 [Option ID = 11246]
3. 3 [Option ID = 11247]
4. 4 [Option ID = 11248]

Correct Answer :-
e 1 [Option ID = 11245]

30) Match List I with List IT

Last 1 List IT
Digital Initiative Objective
(A) e-Acharva (I)'  Digital-learning  environment  for
design
(B) e-Kalpa (II) Umnified Payvment Interface
(C) IMPRINT (III) Integrated e-content portal for projects

under NMEICT



(D) BHIM (IV) Road map to pursue engineering
challenges

Choose the correct answer from the options given below :

(1) (A)-(IID), (B)-(IV), (C)-(D), (D)-(IT)
(2) (A)-(IT). (B)-(I), (C)-aAV). (D)-(I1I)
@) (A)-O. (B)-I), (C)-aIV). (D)-AD)
(4)  (A)-(IID). (B)-(D). (C)-(IV). (D)-(I)

g1 % my -1 =1 e Hifsw
g1 g I

&) F-wmEE 1) Tesrea =+ fou fefEea @ ammEm

(B) -7 (a0  FfeEs 1Eve ek

(C) sfeave (s wm dt s g w41 ) (III) TA.UR 2. & =g uaz & fou
SRS S HeTe Ui

(D) i (sft.oa.3m8.0m. ) IV) sfeenf=be st #1 agm w6 % oo
LS

et o o Tt ® ® @R I R 9EA HIA
(1) (A)-(I1II). (B)-(IV). (C)-(I). (D)-(IT)
(2) (A)-(IT). (B)-(D). (C)-(IV), (D)-(1II)
(3) (A)-(I), (B)-(I1I), (C)-(IV). (D)-(1I)
@) (A)-(IID), (B)-(D), (C)-(IV), (D)-(II)

[Question ID = 2813][Question Description = Q35_GP_Set10_5S1_Shift1]
1. 1 [Option ID = 11249]
2. 2 [Option ID = 11250]
3. 3 [Option ID = 11251]
4. 4 [Option ID = 11252]

Correct Answer :-
e 1 [Option ID = 11249]

31) Under Sustainable Development Goal 3 — 'Good Health and Wellbeing'. by 2030, the
premature mortality from non-communicable diseases 1s to be reduced by

1 75% @) 60%
(3)  50% @) 40%

TR faw @Em 3 % A aTes e # dgeed] , a9 2030 % SEEEE S ¥ SEm

g -HeE T T Tl A1 =E |
(1) 5% (2) 60%
(3) 0% (4) 40%

[Question ID = 2814][Question Description = Q36_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11253]
2. 2 [Option ID = 11254]
3. 3 [Option ID = 11255]
4. 4 [Option ID = 11256]

Correct Answer :-
e 1 [Option ID = 11253]

32) Major factors for loss of biodiversity are

(A) Changes in land and sea use

FIDO% [ rdoats SO



A Labodid Lllll
() Direct exploitation of organisms
(D)  Climate change

(E) Ozone depletion

Choose the correct answer from the options given below :
(1) (C). (D). (E) only (2)  (A), (C), (D) only
(3) (B). (C), (D) only 4) (A, (B), (C). (D) only

(A) 9 IUEM R AR 0§ 9fEd

(B)  aefim aw
(C) ==t =1 uens =
(D) e ThEe

(E)  aAi=H &

/= fau T e 5 H EwE I = A
(1) === (C). (D). (E) (2)  =aE (A), (C). (D)
(3) === (B). (C). (D) (4) =S (A). (B). (). (D)

[Question ID = 2815][Question Description = Q37_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11257]
2. 2 [Option ID = 11258]
3. 3 [Option ID = 11259]
4. 4 [Option ID = 11260]

Correct Answer :-
e 1 [Option ID = 11257]

33 . ; n ;
) Identify the Natural Hazards of geophvsical origin among the following :

(4A) Wildfires
(B) Floods

(C) Subszidence
(D) Tsunami

(E) Heat wave

Choose the correct answer from the optlons given below :

(1) (A). (B). (C). (D) only (2)  (B). (C). (D) only

(3) (B). (C) only (4) (B). (C). (D). (E) only
FAferfiad & 5 geifad g7 % wrEias e w5 e = |
(A) FEAA
(B) =@

(C) H-Hgel



(D)  Fawd

(E) e

= fou 7 fa=wedl § © oE I w1 == Fifa

() === (A). (B). (C). (D) (2) =a= (B), (C). (D)
(3)  =ad (B). (C) (4) =a= (B). (C), (D). (E)

[Question ID = 2816][Question Description = Q38_GP_Set10_5S1_Shift1]
1. 1 [Option ID = 11261]
2. 2 [Option ID = 11262]
3. 3 [Option ID = 11263]
4. 4 [Option ID = 11264]

Correct Answer :-
e 1 [Option ID = 11261]

34)  Given helow are two statements : One is labelled as Assertion (A) and the other 1s labelled as
Reason (R) :
Assertion (A) : In comparison to coal and oil. natural gas contributes much less to global
warming per unit energy.
Reasons (R) : Natural gas has lesser hydrogen per carbon atom than oil or coal.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1= not correct

(4) (A) 1s not correct but (R) 1s correct

= 2wy 25U U E ;v sfUF9e (Assertion A) % =9 H fofiaa 2 & EReE 3% FN0 (Reason R) &

AR (A) : FAA AR A F I A, WHaF 19 ATaF q0E-5FE /I T5T FH A0EE A
2
]

F (R) T {aF-TT0 | ZTEF T FaE T, 7 I FAS o 79 204 # |

I FEE F ATEE 4, e F T e § ¥ e 3ugT 39 0 =9 Fie

(1) (&) R (R) 2 =8t 3 3l (R), (A) 1 w1 =3me 2|
(2)  (A) 3 (R) g1 @& 2 wifpa (R). (A) =i wE ==mem =5 E |
3) (A TF =l (R) w8t a8 21

4) (A T@E E 2 A (R) wE R



[Question ID = 2817][Question Description = Q39_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11265]
2. 2 [Option ID = 11266]
3. 3 [Option ID = 11267]
4. 4 [Option ID = 11268]

Correct Answer :-
e 1 [Option ID = 11265]

35) During second commitment period (2013-2020) for parties under Kyoto Protocol, the target
for reduction in Green House emissions with reference to 1990 levels, 1s

(1) 7.6% (2) b5.8%
(3) 15% (4) 18%

et ==mgar s1afa % 2= (2013-2020), FAE T2 * S=id 98 & fou, 1990 % &+ =y
o o B30 T IeEE | w5 H T @Em 2

(1)  7.6% 2) 5.8%
(3 15% @ 18%

[Question ID = 2818][Question Description = Q40_GP_Set10_S1_Shift1]
1 [Option ID = 11269]
2 [Option ID = 11270]
3 [Option ID = 11271]
4 [Option ID = 11272]

AW N =

Correct Answer :-
e 1 [Option ID = 11269]

36) Given below are two statements :

Statement I: Michael Polanyl. a physical chemist and philosopher of science, has argued
that our explicit knowing depends on a vast subterranean laver of tacit
human knowing.

Statement II: According to Polanyi. “If we did not have bodies and selves’ we could not
know any of what we know at an articulate conceptual. logical, empirical
level™.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement Il is incorrect
(4) Statement I 1s incorrect but Statement II iz correct

= 3 e faw T g

Fo (1) AifaF WEEAaE 1 d5HF sEiEE gieha we 5 a9 e 2 5 s "o g i
T =y i e T we w A e 2

For (IT) : A= & AT7EF 4f3 FAR 98 TR 3 oA T8 B, o 26 99 @ % f 76 90 o |
BH GEIZ HHETAIHS, A1, AAE T W T 2

IUF FHUA H ATAS §, A= 5 T EEen] § § "el 39 %1 994 HiiAw

(1)  FE I#AR I EM J61 2 |

(2)  FE IR 2 o6 7 |

(3)  wua ITE 2, WA w9a [ 7aa 2 |

(4) w17 B, S wee ILEE 2
[Question ID = 2819][Question Description = Q41_GP_Set10_S1_Shift1]
1 [Option ID = 11273]
2 [Option ID = 11274]

3 [Option ID = 11275]
4 [Option ID = 11276]

AW N =



Correct Answer :-
e 1 [Option ID = 11273]

37 .
) Given below are two statements :

Statement I: Interrogative education begins with the premise that we are embedded 1n a

communal reality.

Statement II: We cannot know this communal reality truly and well unless we ourselves

are consclously and actively in community with 1t as knowers.

In the light of the abhove statements, choose the most appropriate answer from the options

given helow :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3 Statement I is correct but Statement IT 1s incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

= 2 e fag T

Fo (I):  WATRAA T98T 1 URY T ST9R | B 2 TR w5 amgertee e | wt=ted 2
Fo (II) . 79 39 HHEaF IMd F FE-TE AN A=S TE T8 T A5 A AFd 2 59 9F 5 79 =

THIE B IEF @Y T S0 \Eed =9 ° 719 IH FE a6 w9 5 76/ |

IUTE HYH F ATEE 4, A9 B e fawed 4 @ wed 3uge 39 F =59E il

(1)  #9F I3 = o8 3 |
(2) e I3 I 3M e 2 |
(3)  FuF 19 2, AfFa FuA 11 7o 2 |

4 A I 2, S o a8 2 |

[Question ID = 2820][Question Description = Q42_GP_Set10_51_Shift1]
1 [Option ID = 11277]
2 [Option ID = 11278]
3 [Option ID = 11279]
4 [Option ID = 11280]

A WN -

Correct Answer :-
e 1 [Option ID = 11277]

38) Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :
Asszertion (4):  Highly selective institutions typically have higher completion rates than
open-access institutions.
Reasons (R) : Thiz may reflect more on the prior learning preparation and motivations of

the entrant’s than on the productivity of the institutions they enter.



In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 12 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4d) (A) 18 false but (R) is true

31

= 21 #ye fou 2 ;v AfHEeE (Assertion A) % =9 H fefiga 2 A T s8% F10 (Reason R) %

AR (A) ; Aeaae =EAeie e # gaa-TaT SIS i AU T I JEeA 2 A E |
F (R) : Tz f57 Teonat © wEwE TEE oid & S Aherdl i FT9aT TEma i gd stfin dan

SR TRomaT i ogwr

I FYA F A °, A= A e fawedl §  wed 3ugd 36t =99 i

(D) (A) ¥R (R)FF &7 7 30 R), (A) F 78 =wer 2 |

@) (A ¥R R) A T E @ (R). (A) F wE = = 2
(3)  (A)Ted & wifa (R) 584 B |

(4)  (A) siEes ® @A (R) @ 2|

[Question ID = 2821][Question Description = Q43_GP_Set10_S1_Shift1]
1. 1 [Option ID = 11281]
2. 2 [Option ID = 11282]
3. 3 [Option ID = 11283]
4. 4 [Option ID = 11284]

Correct Answer :-
e 1 [Option ID = 11281]

39) Measuring productivity in higher education is challenging due to the following factors
(A) Joint production of multiple outputs
(B) Heterogenous inputs and outputs
() Quality change over time
(D) Indifference towards quality amoung faculty

(E) Quality variation across institutions and systems

Choose the correct answer from the options given below :
(1)  (A). (B). (C), (D) only (2)  (B). (C). (D). (E) only
(3) (A). (B). (C), (E) only 4y (A), (B), (C) only

== e 7 Feaeea A etatEd FR & Ao g 2
(A)  =g= 1Al 1 B3 TeEA

(B) T e = i

(C)  @mF = |19 ToETT § giEad

(D)  TEE T TEA ® T IAEE

(B) @A 31 agfaai | o = a5



= fau o et & 9 w6 R w9 il
(1) L (A), (B). (C), (D (2) e (B). (C). (D). (E)
(3)  F= (A). B). (). (E) @ Fa4 (A). (B). (O)

[Question ID = 2822][Question Description = Q44_GP_Set10_S1_Shift1]
. 1 [Option ID = 11285]
2 [Option ID = 11286]
3 [Option ID = 11287]
4 [Option ID = 11288]

A W N -

Correct Answer :-
e 1 [Option ID = 11285]

40 : o ; : . ; ; : :
) The first commission for higher education in post-independece period in India was

headed by:
(1) Maulana Abul Kalam Azad (2) S.Radhakrishnan
(3 D.5. Kothan (4) Zakir Husain

AR e § 9EA & T9T I== 9 9 9 o

(1)  HEF HEE FAE AR (2) ©H. TUEFE
(8)  drum. wE (4) AT A

[Question ID = 2823][Question Description = Q45_GP_Set10_S1_Shift1]
1 [Option ID = 11289]
2 [Option ID = 11290]
3 [Option ID = 11291]
4 [Option ID = 11292]

A w N =

Correct Answer :-
e 1 [Option ID = 11289]

Topic:- GP_SET10_shift2_C

1) Read the passage and answer guestlon

I begin with the first subject-that of communication and interpersonal comprehension which
are central to public reasoning. Our language reflects the variety of concerns on which our
ethical aszessments are drawn. There are vast entanglements of facts and values here but
‘while the phrase “entanglement of fact and value” iz a convenient shorthand, what we are
typically dealing with 1s a triple entanglement of fact, convention and value’. The role that
an understanding of conventions plays in making sense of our social and ethical inguiries is
particularly worth emphasizing here. Indeed. as political thinker Antonio Gramsecl. put if,
several decades ago. 1n his letters from prison. ‘In acquiring one’s conception of the world one
always belongs to a particular grouping which is that of all the social elements which share
the same mode of thinking and acting. We are all conformists of some conformism or other,
always man-in-the mas or collective man’. There is a case for what may look like a bit of
digression here. to wit, Gramseci's focus on entanglements and the usze of rules of language.
which has far-reacting relevance for the developments of contemporary philosophy,
Gramscl's line of thinking had. I have tried to argue elsewhere, a distant but important role
in the substantial transition of Lydwig Wittgenstein away from his largely doomed search for
a full account of what 1s sometimes called, a little deceptively, the picture theory of meaning’.
That of putative understanding of a sentence as representing a state of affaris by being a
kind of a picture of it, so that a proposition and what it describes are meant to have, in some
sense, the same logical form.

Our ethical evaluations, as reflected in our language will have a bearing on
(1) Public reasoning (2) Personalisation of public interest

(3 Phrasing of our perceptions (4) Social concerns

# 3 uee fawa @ ey e - 9% 2 gumer 3R saaataas S S R At 99w w5 e B | eEr
arar faferg femastt = wafda #di 2 foAm aar 4o geae aifed 2d 21| 787 oSt 3099, @ @i
b e M O o B et e e e e e M o o i e Bl s oL o 1 e o et e o
TH WEOE T T 9247, FAE I g F Gt I9e W f99n W w3 | 796 2R g o SR
s ufg=ar gass et |, 3w it gug S gitee, EEvey @ 9Ew 29 % Amm 2 O °, W




TF-JF 5 ° e 9 w1 v fFEns et it 3 58 wga e, fBve i smemon e
fﬁmwnmwuqu||m{41wﬁaw~wcmﬁaﬁmﬁmmmmﬁwa=w
femm = i T w2 ) Ew wsht A E mwmmgwmqwmmﬂ’maﬁmo,;ﬁm
SHEYE § UF F 91 HHfed-Ad | U WA, S AiST @ fG9aeR § GEE Ui & g%ar & @1
aﬁéﬁw,ﬁnﬁaﬁﬁw—%@mﬁmwmwmmdammr;uutﬂhwvﬁﬁaﬁmm
et waE e 2| 3w o wstEe faeedE o wee afedd § g fheg eyl g
T I YT W § o U A0 SEET S B -FE 95T 9 FAl A6 8, F o a9 T
A 1w | w7 w1 e g W R w9 o SR 59 6 99 R U R B 4

TEgRa] i feufa w1 wiaftaeT T 2 T OF St @7 S 9% S TRl & F9 @9F 999 § U
A arfeheh %Y T |

FAT Aok goar, SE 1 BA 9T ® ude w5 #, W O99E w5

(1) aEAfH = = (2) \EAMF BT = AT W
(3) =R UeHd =1 gEl o ¥4 § GEA %W (4) =t faE w

[Question ID = 2824][Question Description = Q46_GP_Set10_S1_Shift1]
1.1

[Option ID = 11293]
2.2

[Option ID = 11294]
3.3

[Option ID = 11295]
4. 4

[Option ID = 11296]

Correct Answer :-
o 1

[Option ID = 11293]

2) Read the passage and answer question

I begin with the first subject-that of communication and interpersonal comprehension which
are central to public reazoning. Our language reflects the variety of concerns on which our
ethical assessments are drawn. There are vast entanglements of facts and values here but
‘while the phraze “entanglement of fact and value” 1s a convenient shorthand. what we are
typically dealing with 1s a triple entanglement of fact, convention and value’. The role that
an understanding of conventions plays in making sense of our social and ethical inquiries 1s
particularly worth emphasizing here. Indeed. as political thinker Antonio Gramscl. put it,
several decades ago. in his letters from prizon. ‘In acquiring one’s conception of the world one
always belongs to a particular grouping which is that of all the social elements which share
the same mode of thinking and acting. We are all conformists of some conformism or other,
always man-in-the mas or collective man’. There is a case for what may look like a bhit of
digression here, to wit, Gramsci's focus on entanglements and the use of rules of language.
which has far-reacting relevance for the developments of contemporary philosophy,
Gramscel's line of thinking had. I have tried to argue elsewhere, a distant but important role
in the substantial transition of Lydwig Wittgenstein away from hiz largely doomed search for
a full account of what iz sometimes called, a little deceptively. the picture theory of meaning’.
That of putative understanding of a sentence as representing a state of affaris by being a
kind of a picture of it. so that a proposition and what it describes are meant to have, in some
sense, the same logical form

The entanglement of fact and value should be complemented by :
(1) Language (2) Personal reason

(3 Convention (4) Social enquiries

ﬁ#wﬁwawwﬁm Wmmwamﬁmﬁﬁmwclw
wnﬁwﬁmwwmmﬁawﬁﬁwmﬂmm%mmmwwamﬁ
e 3 AT UF SR Al a2 AN oAl i Ieee | e UF STHE ST gage wgan & 96 gE @
TR WEOE T H G247, T AR GEA & HwniE 36w W G9n 9w § | 96 59 g o1 SR
it wfig=at waE fmte #, 3w $it vy F g, GEeE @ 5w A F AT 2 arad °, #
TH-TE W @ g ST o Tt s vzt deeht 3 5 wea e, fawa S smemen
1 ufm # F == oder el o9 @ gweg war & R o s mew @ A e 9w mme
Wwwﬁﬁmmilmqﬁmim%ﬁmmmw%mﬁfﬁ;,;ﬁm
SHEYE § UF F A1 HHfed-Ad | U WA, S 9IS @ fg9aeR § GEE U A gwar & @ e

aiftaarear, deshi it faeEn-1g ey d a9umten 2 W ST SOET T Feg m?wvfﬁmﬁmm
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[Question ID = 2825][Question Description = Q47_GP_Set10_S1_Shift1]
1.1

[Option ID = 11297]
2.2

[Option ID = 11298]
3.3

[Option ID = 11299]
4. 4

[Option ID = 11300]

Correct Answer :-
e 1

[Option ID = 11297]

3) Read the passage and answer guestlon

I begin with the first subject-that of communication and interpersonal comprehension which
are central to public reasoning. Our language reflects the variety of concerns on which our
ethical aszessments are drawn. There are vast entanglements of facts and values here but
‘while the phrase “entanglement of fact and value” iz a convenient shorthand, what we are
typically dealing with 1s a triple entanglement of fact., convention and value’. The role that
an understanding of conventions plays in making sense of our social and ethical inguiries is
particularly worth emphasizing here. Indeed. as political thinker Antonio Gramsecl. put if,
several decades ago. 1n his letters from prison. ‘In acquiring one’s conception of the world one
always belongs to a particular grouping which is that of all the social elements which share
the same mode of thinking and acting. We are all conformists of some conformism or other,
always man-in-the mas or collective man’. There is a case for what may look like a bit of
digression here. to wit, Gramseci's focus on entanglements and the usze of rules of language.
which has far-reacting relevance for the developments of contemporary philosophy,
Gramscl's line of thinking had. I have tried to argue elsewhere, a distant but important role
in the substantial transition of Lydwig Wittgenstein away from his largely doomed search for
a full account of what 1s sometimes called, a little deceptively, the picture theory of meaning’.
That of putative understanding of a sentence as representing a state of affaris by being a
kind of a picture of it, so that a proposition and what it describes are meant to have, in some
sense, the same logical form.

According to Antonio Gramscl. one’s conception of the world depends upon :

(1) Group affilation (2) Thinking and actions

(3) Distancing from a particular group (4) Conformi=zm as a collective being

ﬁ#whwnmﬁm Wmmwamﬁmﬁﬂwmclw
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1. 1

[Option ID = 11301]
2.2

[Option ID = 11302]
3.3

[Option ID = 11303]
4. 4

[Option ID = 11304]

Correct Answer :-
e 1

[Option ID = 11301]

4) Read the passage and answer guestlon

I begin with the first subject-that of communication and interpersonal comprehension which
are central to public reasoning. Our language reflects the varlety of concernz on which our
ethical aszessments are drawn. There are vast entanglements of facts and values here but
‘while the phrase “entanglement of fact and value” i1z a convenient shorthand., what we are
typically dealing with 1s a triple entanglement of fact, convention and value’. The role that
an understanding of conventions plays in making sensze of our social and ethical inguiries is
particularly worth emphasizing here. Indeed. as political thinker Antonio Gramsel. put it,
several decades ago. in his letters from prizon. ‘In acquiring one's conception of the world one
always belongs to a particular grouping which is that of all the social elements which share
the same mode of thinking and acting. We are all conformists of some conformism or other,
always man-in-the mas or collective man’. There 1z a case for what may look like a bit of
digression here, to wit, Gramsecl's focus on entanglements and the use of rules of language.
which has far-reacting relevance for the developments of contemporary philosophy,
Gramsel's line of thinking had. I have tried to argue elsewhere, a distant but important role
in the substantial transition of Lydwig Wittgenstein away from his largely doomed search for
a full account of what 1s sometimes called, a little deceptively. the picture theory of meaning’.
That of putative understanding of a sentence as representing a state of affaris by being a
kind of a picture of it, so that a proposition and what it describes are meant to have, in some
sense, the same logical form.

The contemporary philosophy has developed because of :
(1) Dissimilar thoughts (2) Entanglements

(3) Full account of meaning (4) Putative understanding of representation
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Correct Answer :-

° 1

[Option ID = 11305]

5) Read the passage and answer guestion

I begin with the first subject-that of communication and interpersonal comprehension which
are central to public reasoning. Our language reflects the varlety of concerns on which our
ethical assessments are drawn. There are vast entanglements of facts and values here but
‘while the phraze “entanglement of fact and value” is a convenient shorthand. what we are
typically dealing with 1s a triple entanglement of fact, convention and value’. The role that
an understanding of conventions plays in making sense of our social and ethical inquiries is
particularly worth emphasizing here. Indeed, as political thinker Antonio Gramseci. put it,
several decades ago. in his letters from prison, ‘In acquiring one’s conception of the world one
always belongs to a particular grouping which is that of all the social elements which share
the same mode of thinking and acting. We are all conformists of some conformism or other,
always man-in-the mas or collective man’. There 1s a case for what may look like a bit of
digression here. to wit, Gramsci's focus on entanglements and the uze of rules of language.
which has far-reacting relevance for the developments of contemporary philosophy,
Gramscl's line of thinking had, I have tried to argue elsewhere, a dizstant but important role
in the substantial transition of Lydwig Wittgenstein away from his largely doomed search for
a full account of what is sometimes called, a little deceptively, the picture theory of meaning’.
That of putative understanding of a sentence as representing a state of affaris by being a
kind of a picture of it. so that a proposition and what it describes are meant to have, in some
sense, the same logical form.

The passage has focused on :

(1) The picture theory of meaning (2) Ethical values of social life
(3) Language and meaning {(4) The state of affairs
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